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Note from the author:

About this resource ...

Number Knowledge Series 1 - Book 6
(Code: NK6)

is one of a series of 8 resources written to support the NUMERACY PROJECT currently
being implemented within many New Zealand schools. Within each resource in this
series, the NUMBER KNOWLEDGE FACTS are systematically and methodically
introduced, providing students with the 'building blocks' required to progress through the
various NUMBER STRATEGY STAGES.

These resources have been compiled using the Achievement Objectives from the appropriate NUMBER and
ALGEBRA STRANDS as stated in the document ....

Mathematics in the New Zealana Curiiculum

and information from the various regtuttes of ine ...

Numeracy Professional Development Project

... involving the Strategy Stages'as listed below.

Z-’EZ-’EZ-’EZ-’E:E Strategy Stages 2 -5
1 One-to-one Couiifing — ‘ 1,?
2 Counting from One on Malerials 7 ‘ \n A
) 3 g
3 Counting fromCtie by litiaging J \p./ Jg '
vre : 2 /0

4 AdvancedC_lntx_ﬂ .Counting On\_ X c fi

5 Early Additive Part-Whole |

6 “duanced Additive Part-Whale

_7__ '\i anced Multiplicative Pal Wh e
] I dvanced Proportional Fart-Vhole
FBu . Resource | Suggested | Curriculum
How to use these resources.: a ‘ Code |Year Group Level
There are 8 reghurces in this series. L 1 NK1 1 1
2 NK2 2 1
The table “Oppcsite “suggests the Year Grou
each Dook can e used at, however this is oniy a 3 NK3 3 2
suggestion 4 NK4 4 2
There istNO obvious referénce o Year Group or ° NKS ° 3
Level noted on each activity chieet, therefore the 6 NK6 6 3
appropriate resource carn oe selected for your 7 NK7 7 2
students, regardless of theirYear Group.
8 NK8 8 4

This series of resources are supplied as BLACKLINE PHOTOCOPY MASTERS.

Available as HOMEWORK WRITE-ON WORKBOOKS /f_\?
These resources can also be purchased as Write-On \\/j 1

Student Workbooks, which are sold to pupils as HOMEWORK / /\\<J/.l/

REVISION resources and cannot be photocopied.
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How to use this resource - Book 5

The purpose of this resource is for students to become familiar with saying and
writing the numerals from 1 to 10000, introducing skip counting in 8's & 9's
and revising skip counting 2's, 3's, 4's, 5's, 6's, 7's and 10's.

There are 40 activity sheets in this resource. The worksheets are divided into 2

groups of 20 and gradually get more difficult. Below is a summary of what is
contained within each group of worksheets.

If the worksheet is going to be sent home, copy the appropriate section below and send this home with the first
worksheet so that parents / care-givers know what to do.

Worksheets 1 to 20

Worksheet
Activity

Teaching Ideas

A

In this activity, pupils are exposed to skip counting forwards @nd backwaids in 2's, 2'504'¢ \5's, G's,
7's, 8's, 9's and 10's, creating number patterns as thcy write in the missing nuiibers.

In this activity, pupils improve their recall of nunibers andidévelop mental arithmelis sldlls as they
write the numbers that come before and after a'given fumber skip countingrin 2's, &'s, 4's, 5's, 6's,
7's, 8's, 9's or 10's.

In this activity, pupils learn to order 8 nuinbeis between 100 & 100U front smallest to largest @i vic
versa.

In this activity, an abacus is proviaee for pupils to use
when solving the addition o1 subtfaction problems,
revising all number combinations from 2 to 18. An
abacus master sheét is provided on the nextpage
that can be phototopied.and given to pupils

+

Questions 1 fo 10hiinvcive adding twao 3 adigit numbers without carryifig, with @ppropriate subtraction
combinations.

Example:s 024+ 425 = 649, 530 -471 =112, elc.

Questioric 1 to 22 involve adding a2 digit & 3 digit number together involving carrying on the 2nd
digiiwith the appropriate©ubtrastion combinations and questions rearranged to allow pupils to
develop alternative'straiegieswihen solving.

—xample: 454 + 62"+ 516, 315-62 =253, 05+ 231= 326, 416- 81 = 335, elc.

Questions £3 to 28, 1, Zor 3 digit numbers are aaded together involving no carrying and carrying.

One of the numibers is a multiple of 10phence developing the adding 10 strategy.
Exainple: 2204744 + 3 = 267,()9 + 60 + 56 = 127, etc
westion 29 involves adding usirig the 10+ strategy.

Example: 10+ 62 +3 + 197 +.40 = 300

Westions 30 & 31 are word problems, involving adding and subtracting using the skills learnt in
previous questions.

In this activity, gkif counting in multiples of 8's or 9's is used to work out the appropriate multiplication
facts. A numbel ‘inel is E)rovlidedl. Tlhe 2I 3, I4, 5|, 6, I7 ar?d 1|0 multiplication facts are also revised.

T T T T 1 1 1 I I I I
Example: @

In this activity, the multiplication facts have been rearranged to provide pupils an opportunity to
develop alternative solving strategies, before attempting division problems.

In this activity numbers (numerals) are written in words and pupils are to read the number words and
write the number.

Pupils are exposed to ‘teen’ and ‘ty' numbers in pairs (17 & 71, 18 & 81) and other numbers where
the digits have been reversed (46 & 64, 28 & 82 etc.) and rounding to the nearest 10.

AWS
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Worksheets 21 to 40

Worksheet
Activity

Teaching Ideas

A

In this activity, pupils are exposed to skip counting forwards and backwards in 2's, 3's, 4's, 5's, 6's,
7's, 8's, 9's and 10's, creating number patterns as they write in the missing numbers.

In this activity, pupils improve their recall of numbers and develop mental arithmetic skills as they
write the numbers that come before and after a given number skip counting in 2's, 3's, 4's, 5's, 6's,
7's, 8's, 9's or 10's.

In this activity, pupils learn to order 8 numbers between 100 & 1000 from smallest to largest or vice
versa.

In this activity, an abacus is provided for pupils to use |
when solving the addition or subtraction problems,

revising all number combinations from 2 to 18. An Rt + =

abacus master sheet is provided on the next page ,'c “l:

that can be photocopied and given to pupils. Bt'_: ; Ts ] [100s[10's | ;] o5 105
- =

Questions 1 to 10 involve adding 3 digit numbérs involvirg cartying on the 1€t or 2na digit, with the
appropriate subtraction combinations and questions reairanged to allow pupilsio develop alternative
strategies when solving.

Example: 132 + 259 = 391, 851 - 248= 603, 481 + 347 = 828,855 - 565 = 274, efc
Questions 11 to 20 involve adding 3“iumbers together, either a“l digit, 2 digit and 3 digit niimer
Carrying and no combinations ar€ ihvolved, with questions sEairariged to allow pupils to. develor
alternative strategies wheli'solving. [©One of the numbcrs is a muttiple of 10, hence déveloping the
adding 10 strategy.

Example: 3+40+ 73239, G0+5+ 51=116, “90+ 22+ 6=118, 71+ 25540 = 119,

Question 21 involvis adding using the 10+ stréiteo)

Example: 10 + 62 + 34+ 191 + 40 =306

Question 2215.a waord problem, irvolvifia adding and subtracting 4ising (heskills learnt in previous
questions.

Insthis&iciivity, for questions ™ 10 8'the iriultiplication factsifor 2's,3's, 4's, 5's, 6's, 7's or 10's are
revisedi’ Example: 2x 66,124 505=25 7x 10 =70 elc.

inguestions 9 to 12, th€ muitiplication facts have heen reairanged to allow pupils to develop
alternative stratédies wheinsolving. Example: 8262 =12, 10 x 3 =30

The skip counting é&quences for 6's and 7's are proyided.

In this.attivity..for Worksheets 21 to 30 'and auestions 1 to 10, the division facts for 8's, and 9's are
introduced and 2's, 3's, 4's, 5's, 6's, 7's & 1U's revised.

Exampic: 12+=2=6, 25+35=5, 8010 =8, efc.

in question 11, pupils are td colour i1 afraction of a shape - '15's, 'I3's, Is's, s's, 'I7's , Ig's or Ylg's.

In"this activity, for Workshects 31 to 40 and questions 1 to 4, the division facts for 2's, 3's, 4's, 5's,
3's and 7's are‘(aviced.

For questions.5 & €, the division facts have been rearranged to allow pupils to develop alternative
strategies whei salvitlg. Example: 12+2=6, 25+5=95, 80+ 10 = 8, efc.

In question 7, Gupils are to find 'ly, 1, "4, Y15, Y16, ', 15 or "Iy of a given number.
Example: What is '/, of 20?
In question 8, pupils are to solve a word problem involving sharing money using the fractions above.

In this activity 3 or 4 digit numbers are to be rounded to the nearest 10 or 100.
Example: 234 = 230, 875 = 880, 2340 = 2300, 8750 = 8800

In this activity, the multiplication facts are used when exposed to multiplying large numbers, all
multiples of 10, with some questions rearranged to allow pupils to develop alternative strategies
when solving.

Example: 2x 100 =200, 80 x 3=240, 100x5 =500, 62x2=124, 82x 2= 164

AWS
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Abacus Master Sheet

Name:

What number is drawn on each abacus?

5 228 B FHe as

__
o0s[10s [ 1's | [100s[10s | 1's | [100s [ 10s [ 's | [100s [ 10s [ I's | [100s [ 10s | 1s | [100s [ 10s [ 1's ]|

(=3

[1

Draw the number below each abacus on the abacus.
RO | AN

[100s[10s [ s | [100s [ 10s [ 's | [100s [ 10's [ 1's | _[100s | 40s [ 1's | [100s | 10

46 137 594 732 409 6710

[ _

[100s [ 10 ] 1's ]

Make up adding and subtracting questians.
l ] ] 1 I 1
| | |

+ | =

[100s [10's | 1's | [100% | 40 .!s_\ 100s [ W08, | 100s [ 10s | vs | [4bos s [ s | [100s [ 10s [ 1's |

+

+ = + =
| | A | | (] a
| | L
[100s [ 10s [ 1's | [T00s] s [ii's | [100s [40s [(s /| [100s [10s [ 1's | [100s [10s [ 1's | [100s [ 105 | 1’s |
+ | = + =
|

[100s [10's [ 1's | [100s [ 10s [ 's | [100s [10s | 1's | [100s [10's | 1's | [100s [ 10s | 1's | [100's [ 10s | 1's ]

+ = + =
[100s [10's [ 1's | [100s[10s [ 1's | [100s [10s | 1's | [100s [10's | 1's | [100s [10s | 1's | [100's [ 10's | 1's ]

AWS - —
Copyright ©,00s AWS Publications Ltd



et Number Duowhedse Workshest

Bké Name: Class:
Write in the missing numbers as you skip count in 3's,
2’ 1 1 1 1 ,77 1 1 26’ 1 1 1 38’ LI,’ 1 1 1 53, 56
E Skip counting in 3's, write the Write these
number that comes numbers in order 209 598 1253 1075
before and after ... from smallest to
largest. 1860 Iuyy 882 927
l 18 2 52
3 69 . 8l y. \ 4. .4
Add or subtract these numbers. JﬁSkip counting aric nilitiplying in 8's.
Write the equaﬁons for Ql and Q2. Example: 23 + 15 5. 3% Use the numberline.to work out the answers.
FxampPlo: §+8+8+8+8=5x8=10
2123 s e
, L @108 el aul[ 32| wol[us | s6fau) 72l 0]
+ = w02+ 263 = — P =
fio0's[10s [ 1's | [oos[10s [ 1's | [f00°s[10's [+ ]|~ S6U + 232 = Sl x 8= @22 x 8 =
I + = 6‘39I+’06;__3.3x8.-__ “ U x 8 =
| | 7 oqu7z 0. 02 =
—| 5 5 x( &= 6. 6 x 8 =
- : | = 5 396 Sy = — —
g, _ x/8 = &8 & x 8 =
[Hoo’s[10’s [ 1’s | [00’s 5—57 100’s[10’s | 1’s ’L" 64 - 237 = - -
2 - = |90757 - 450 = 9.9 x 8 = . 10 x 8§ =
Write in the missing
I 322+ 93 = 12075 + 281 = 35 43 486 multiplication facts.
w315 - M = A g Suq - 86 = all Q37 <82 = . 8 x = 8 2 x 8 = 80
| — - -
17, + U5/ = OI8 1 360 + = 4ag n 24l = 328 | ; x & =32 |« & x = uy§
20. L{Qq A B = 332 2. C 2 =a?b~ 2. 536 = = '-!6'-! 5. 8 X = '-{0 é. X 8 = 56
220 + 0+ 130 = 65 + 20+ 2 = €] |Write these number
Y 4 I words as numerals, then 4
5230+ 31 + 6 = | |26 3 + M + 170 = round to the nearest I0. ”
Example: 23U= 230, 178 = 180 Rounded
a7 4 + 340+ Il = 28320 + 3 + 22 =
eight hundred N
29. 260 + .?I + 5 + I80 + U3 = and flffeen
5. If you have 35ué and are given 3172, seven hundred N
how much money do you how have? and forty-six
= six hundred and N
If you have 3437 and spend 3152, fifty-one
how much money do you have left? , four hundred and R
= ' sixty-four
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et Number Knouledze Worksheat 2

Bké

Name: Class:
Write in the missing numbers as you skip count in 6's,
67 et ,8’ 14 14 14 14 L{8’ 14 60’ 14 14 14 14 qol 967 14
E Skip counting in 6's, write the Write these
number that comes numbers in order 65l 134 1078 2095
before and after ... from largest to
smallest. 15330 289 906 . 870

66
ug

! 30

3 15 "

2.

Add or subtract these numbers.
Write the equations for Ql and Q2.

2250+ 12+ U =
S5 + 21 + 310
2.22 + 130 + 6

29 4 + 31 + 170 + 52 + 250 =

25,

2% 200 + 21 +

28,

6 + U300 +

If you have 3462 and are given 3347,
how much money do you how have?

30.

3

g{;‘u:‘:& 3l
% =

Example: 23 + 15 = 38

i+
+ = 202 +
[100's[10’s [ 1’s | [100°s[10’s [ 1’s | [100’s[10°s [ 1’E | S 13+
l + = 6 320 +
| L5 |7 v -
- = s 867 -
’, :
100°'s[10’s [ 1’s |, [100°s[10'5 [ 457 [100’s[10’s | 1’s &’

2 h - 10, "8 -
nud + 71 = 2. £S5 + bl > 15 35K +
w57 - 66 = . |NU38 - M = 6. 396
n__ o+ 354 S| s0su + = 319 :/a_ A
20328 - |\ 9237 |a - 850= u5d|n UuS

’.?u‘ I+ 6 + WO =

If you have 38ud and spend $u73,
how much money do you have left?

Example: 3+ 8+45+8+8=5x8=8C
o =
350 = 0 1567108 [[94][ 32][wo | w8 | 56 el 7050
373=__’/~x8= Ux & =
y55 =
L0 2 x 8= 7 8 x 8§ =
260 =
—1 5 |0 x & = 6 | x & =
Il5 = y A -
Y25 = 703 x% 8= & 7 x 8 =
2 = 9 $x 8 = 0. 5 x 8 =
’ Write in the missing
3 = multiplication facts.
- us = . 8 x =16 |2 x 8§ =72
+. /3 =uU59| ; X 8§ =24 |« & x = 80
- =363|5 8 x =32 e x 8 = 6u
G Write these number B
- words as numerals, then 4
y = round fo the nearest 10. ”
i Example: 23U= 230, 178 = 180 Rounded
five hundred and o
thirteen
5 two hundred and N o
forty-seven
two hundred and o
thirty-one
one hundred and
u =
seventy-four

: Skip counting and iulliplying in 8's,

Use the numberlinado work out the answers.

AWS
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et Number Mnowhdse Worksheat 5

Bké Name: Class:
Write in the missing numbers as you skip count in 8's,
8’ 14 14 14 14 ngf 14 14 14 14 88’ 14 14 ,,QI _ ,36I IL{L{
E Skip counting in 8's, write the Write these
number that comes numbers in order 207 1563 577 859
before and after ... from smallest to
largest. 2040 894 11”25 1281
I 16 2 Jo
3 59 u 3l y. \ 4. .4
Add or subtract these numbers. JﬁSkip counting aridhnilitiplying in 8's.
Write the equahons for Ql and Q2. Example: 23 + 15 5. 3% Use the numberline.to work out the answers.
FxampPlo: §+8+8+8+8=5x8=10
* W RE® D e s s s o
. _ NN - [T 183232 o e salhetizal o)
[ia0s[10s [ 1's | [io0's[10's [ 1's | [f00s[0°s |4 ]| > 532 + 125 = dFRx8&=_ @28x5 =
I + = 6‘I6u+"?d:__3.8x7.-__ . 9 x & =
| | 7 6850 301 =
—| 5 10 x{ Ba= 6 8 x | =
- - s 737, 997 = — —
- - - x /8 = 5 6 x 8 =
[Hoo’s[10’s [ 1’s | [00’s 5—57 100’s[10’s | 1’s ‘9‘ (98 - 343 = - -
2 - = 10583 - 27 = 904 x 8 = . 8§ x 3 =
Write in the missing
nysy + 62 = 12573 + 363 = 13 QU #08%6 multiplication facts.
I, -?26 - 73 = X /5. 3’5 - 6-? =_ 5 lé ¢~g 73 =_ I 8 X = 16 2 X 8’ = L’8
| - -
17, + 23/ = 326 us2 + = 5354 + 363 = yd5 3 x 8§ =6U |v 8 x =2y
20 Y7 - = 326 |2 : L = 250|122 Ulé - = 335 5 8 x =uyo |e X 8 =72
2 4 +3 + 120 = D220+ W+ 3 = €] |Write these number
W 4 I words as numerals, then
522 + 310 + 5 = 2 4 + 340 + 2 = round to the nearest I0. >
v Example: 23u= 230, 178 < 180 Rounded
27.230 + 6 + 22 = 2 3d + 4 + 10 =
six hundred and N
. If you have 3574 and are given 3265, three hundred N
how much money do you nhow have? and eighty-two
= four hundred and N
If you have 3758 and spend $287, forty-one
how much money do you have left? , nine hundred and R

twenty-eight
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et Number Knouledzs Worksheat

Bké Name: Class:
Write in the missing numbers as you skip count in 9's,
q’ 14 14 36, 14 14 14 14 8” 14 14 14 ,,77 14 14 ,L{L{f 14
E Skip counting in 9's, write the Write these
number that comes numbers in order l647 926 2113 1739
before and after .. > from largest to
smallest. 765 688 uU52 . 1904
I 27 2, Sy
s 69 u 8l Y. \ Ay, .24

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 23 + 15 = 38

s 634 +720)

+ = ’ 180 + 217 =:
fovs[i0s [ =] [ovs[ios [1s] ovs[tos[ve | S0 + Y63 =

! + = 2+ = 0

L | 7 992 -Oued = 7

- =) 8_759 - 6ul= o

7. —

100°s[10’s [ 1's | [100’s] 1 —|' ._| To0s[10s [ 15 ]| 0~ 5 320 =7
2 \ - o 093 - W3 =

352 + 7 = 2 £35 +255 > | U6T % D=

w7 - 95 = o |5536 - 83 = le i 832 =

no 4+ 320 SN B052+ = 3.7u:/a_ "+ u3l = 5I5

20319 - oyl 2 - 86 = U6l (b u39 - =352

2 4 + 130+ MO = | ’24 €0 + 2 + 55 =

25330+ 3 + 16 = |2 U + U2 +350=__

a yl +240 + 6 = % 3 + 10+ 5 =

120 + 12 + 2 + 84 + 290 =

29.

If you have 3U83 and are given 3236,
how much money do you now have?

30.

If you have 3626 and spend 3194,
how much money do you have left?

: Skip counting and muliplying in 8's.

Use the numberlinado work out the answers.

Example: 8+ 8 +5+8+8=5x8=80C
et
0 0671106 [[94] 32]|wo] | s 56 et | 7050
3 8 x 6 =47 v 8§ x 8 =
sl ox &g " |6 8 x =
7. 08N Y = & 5 x & =
9 3'x 8 = o. & x 9 =

Write in the missing
multiplication facts.

L

L8 x = 8 |2 x 8§ =56
3 x 8 =48 |v 8 x =24
5. & x =72 |e x 8 = 32
G Write these number _
words as numerals, then
round to the nearest 10, > -
Example: 234= 230, 178 = 180 Rounded
one hundred and N
thirty-eight
four hundred and
2 ) =N
eighty-one
seven hyndred N
" and eighty-three
eight hundred N
and eighteen
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st Mumber Knowledze

Motksheat 5

Bké Name: Class:
Write in the missing numbers as you skip count backwards in 6's.
,OQ’ 14 14 14 14 14 667 14 14 ngf 14 14 30’ 14 14 ,27 6
E Skip counting in 6's, write the Write these
nurnber that comes numbers in order Sué 1708 317 762
@ before and after .. & from smallest to
largest. 159 235 1179, 1383
! I8 2 30
3 69 u us Y.\ 4 D4
Add or subtract these numbers. JﬁSklp counting aric nilitiplying in 8's.
Write the equaﬁons for Ql and Q2. Example: 23 + 15 5. 3% Use the numberline.to work out the answers.
Examplo: 8+ 8+ 8+ 8+ 8 = 5x8- 0
3 332 6u0 = <—|—|— | -+ +—
. _ NN . d [ W22 o] o gl
fio0's[10s [ 1's | [io0's[10's [ 1's | [t00s[0°s [ 4|~ SU + 250:_ G S x 8= @28 xd =
I + K 6‘8I0+I73:__3-8X.?-' CWle 8 x 8 =
7 694 & 532 =
—| 5 10 x{ Ba= 6 8 x | =
4= 5 896 5 306 = — -
- - x6 = 5 7 x 8 =
[Ho0’s[10s | 1= 1i£—s—| 100s[10's [ 1's ‘9‘ 79 - 123 = — —
2 - = |89 - 150 = 99 x 8§ = . 8 x 3 =
Write in the missing
231 + 94 = 120783 + 4l = 13 362 £°83 multiplication facts.
wyls5 - 93 = A 2 318 - 8u = .| 029 - \77 = |t 8 x =56 |2 x 8 = 16
| _ -
7.+ 3500= 127 25/ + = 38w " 4 U633 =539 ; x & =80 |« & x = 6y
2. 325 - = 23 |2 o2 = UshH|2 Y48 - = 366 | 5 8 x =uyo |e x 8 =u8
27 + 42 + 120 = B2 +320+ 5 = €] Write these number — _
W 4 I words as numerals, then 4
5 53 +320+ 6 = 2 5 + 32 + 230 = round to the nearest 10, >
o Example: 23u= 230, 178 < 180 Rounded
7.4l0 + U + 65 = 2 U0 + U + 52 =
, three hundred o o
2922 + 3 + 93 + 310 + 180 = " and twenty-six
. If you have 3562 and are given 3254, three hundred
2. =
how much money do you how have? and forty-one
= 5 five hundred and N
If you have 3567 and spend $I8u, sixty-two
how much money do you have left? | one hundred and R
= ' fourteen
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et Number Knouledze Worksheat

Bké

Name:

Class:

Write in the missing numbers as you skip count in U's,

.

3

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 23 + 15 = 38

23.

25,

27.

30.

29 70 + 33 + dl + 5 + U0 =

3 157 +°732
+ = S5 + U =
[100°s[10’s [ 1's | [100°s[10’s [ 1's | [100’s[10’s | 15| s O3 + 103 =_ @
: + = ‘6‘ eus + 3 =
| L 879 -8 -
- = 5 898 - M7d0=
?; N
100°'s[10’s [ 1’s |, [100°s[10'5 [ 457 [100’s[10’s | 1’s % /43 1386 =
2. R - fo. ‘6 - 730 =
noyd3 + 94 = 1. &1 + 367 15 272 % =
u 365 - 8l = Bo3J7 - 90 = 6. 558 02 =
1. + 261 <0359\ 5 07l + = 5y7 :/9‘_ U+ 283 =478
20556 - | au82|a__ - 83 = u5l|» 379 - =295

’.?u‘ 30+ 5 + 85 =

8 + 31 + IO =
gl + 340 + d

6 + 25 + 350
220 + 33 + 5
62 + 7 + 120

26,

28,

If you have 3672 and are given 3286,
how much money do you how have?

If you have 3828 and spend 3275,
how much money do you have left?

,7 14 14 14 ,7, 14 14 14 33’ _ L{,f 14 14 14 57, 14 14 14 73’ 77
E Skip counting in U's, write the Write these
number that comes numbers in order 737 1692 503 184l
before and after ... from largest to
smallest. I1350°. 1924 286 715
32 2 Jy
75 Y 53

: Skip counting and muliiplying in 9's,

o —————
0 (71108 197] 36 u5| 5w 63/ ma EhiD)

3

5.

Use the number

G

9 x =18 |2 x 9 = 5y
x 9 =72 |« 9 x =27
9 x =4y5 |e x 9 = 90
Write these number _
words as numerals, then 4
round to the nearest 10. ~
Example: 23U= 230, 178 = 180 Rounded
six hyndred and N
ninety-one
nine hundred and
) =N
ninety-three
four hundred and
3, , =
nineteen
seven hyndred N

1atv work out the answers.

Examplen 9+ 94 9+9=Ux9=36

x 9= ’ - X 9

3 x 9= "/.leqz_
5x Qap |6 6x9=__
4 2= |8 8x9=_
Ox 9= |ol0x 9 =

Write in the missing
multiplication facts.

L

and thirty-nine
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et Numbet Dnowledae Workshest 7

Bké Name: Class:

Write in the missing numbers as you skip count in 7's,

7’ 1 1 1 35, 1 1 56, 1 1 1 8'-{, 1 1 1 ,,Q,
E Skip counting in 7's, write the Write these
number that comes numbers in order 623 1542 787 356
before and after ... from smallest to
largest. 1380 364 1238 1712
I 35 2, 63 :
3 us . 9 y. \ 4. .4
E Add or subtract these numbers. Lk/b counting arichniultiplying in 9's,
Write the equaﬁons for Ql and Q2. Example: 23 + 15 5. 3% Use the numberdine to work out the answers.
Exgiiple: 947+ 9+9=4dx9=5
A e e e e e v v e e
. _ N s T T 82736 s 5 gl )
fio0's[10s [ 1's | [o0s[10s [ 1's | [f00°s[10's [ 1] | > 257 + 52 = M3 x 9= 25 x 9 =
l + = 6‘69.?+30l-!:__>_3‘8xq,__ « 1 x g =
;l | 7 585%_ Jhy =
—| 5 10 x{ 9= 6 7 x 9 =
SN 5 953 SM2 = — —
- = - DI x9 = 8. b's =
[M00’s[10°s [ 1’s | [00°s 10’ [i's | [100’s[10’s [ 1’s "1‘ 599 - 357 = d - 7 7 -
2 - = ’: 839 - 128 = 96 x 9 = o. f x 9 =
Write in the missing
i 356 + 90 = 148 + 28 = 135 4#3 99) multiplication facts.
u 549 - 72 =, 5 357 - 96 = _ |6d478 QU = L9 x =9 |2 x 9 = 63
| _ _
i, + 75 0= 39570 342 + = Y37\ 9 292 = 378 | ; x 9 =36 |« 9 x = u5
20 388 - = 292 |2 A =557 |2 66 - = 39 | 5 9 x = 8 e x 9 =27
232 + 6 + MO = 270+ 5 + I3 = €] Write these number — _
v I words as numerals, then
25.360 + 2d + 4 = 2 & + 31 + 150 = round to the nearest I0. : -
B2 Example: 23u= 230, 178 < 180 Rounded
7. 6 + 230 + 32 = % 54 +320+ 5 =
eight hundred N
5. If you have 3583 and are given $2u5, six hundred and N
how much money do you nhow have? sixty-one
= | five hundred and
g ty-eight =
If you have 3966 and spend 3373, forty-eig
how much money do you have left? seven hAundred
= "~ and sixteen =
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et Number Knouledze Worksheat 8

Bke Name: Class:
Write in the missing numbers as you skip count in 8's,
8’ 14 14 14 'JOI 14 14 14 14 80’ 14 14 14 14 ,20, 14 14 ,L(L{
E Skip counting in 8's, write the Write these
number that comes numbers in order 1922 174 1297 736
before and after ... from largest to
smallest 758 I 885 . 1169
! 32 2 17.1
3 79 . 6l

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 23 + 15 = 38

30.

: Skip counting ana idliplying in 9's,

o —————
0 (71108 197] 36 u5| 5w 63/ ma EhiD)

l.

3

3 462 +° U3

+ = 130 + 532 =

fovs[0s [15] Foos[10s]1s] Foosos]re ) > <3 *+ 432 =
! + = o 3u2 + 632 = ( N
l | 6 028l = 7
- = s 876 -WuSh=
= —
100's[10's [ 1's | 100's[10 5 [ L) 238 B =

2 y = 0. M5 - 32 =
362+ 93 = |k J +d76 s | 28l+ 48 = 0
. 558 - 73 = 90337 -4 = e 375.- 86 =
v 4293 9388 Ms3 + = 557:& A9 = uer
20539 - | S |2 - HU = 322 2 U65 - = 373
5 6 + 34 +2d0 = ’24 2+ 7 + o=

5330+ 7 + 2 = |2 d +220+ U5 =
7 63 + 130 + U = |35+ 13 + 6 =

29 2 + 250 + 3l + 54 + 170 =

If you have 3383 and are given Bueéu,
how much money do you how have?

If you have 3668 and spend 339,
how much money do you have left?

L9 x = 3 |2 x 9 =54
3 x 9 =18 |« 9 x =72
5 9 x = 8l |- x 9 =9
G Write these number _
words as numerals, then 4
round to the nearest 10. ~
Example: 23U= 230, 178 = 180 Rounded
one hundred and N
fifteen
two hundred and N
twenty-nine
three hundred o
and fifty-one
“ four hundred and N

5.

Use the numberlinado work out the answers.
Fxam@len 9+ 949+ 9=ux9=36

OHXx 9= @Yy xd=
9 x 10 = "/. 8§ x 9=
Sx Qw6 9x3=_
7% o= 5 6 x 9 =
Ox 9= |0 9x 7 =

Write in the missing
multiplication facts.

L

ninety-two

Copyright ©,00s AWS Publications Ltd



et Number Knowkdse Workshest

Bké Name.'

Class:

Write in the missing numbers as you skip count in 9's,

qf 14 14 36’ 14 14 14 72’ 14 14 14 14 14 ,267 14 14 14 ,62
E Skip counting in 9's, write the Write these
number that comes numbers in order 1822 37d 1297 536
before and after ... = from smallest to
largest. gsz lé6ll 385 1169
! 36 2 63
3 22 g, 88 y . \ 4. ..
Add or subtract these numbers. Lk/b counting arichniultiplying in 9's,
Write the equaﬁons for Ql and Q2. Example: 23 + 15 5. 3% Use the numberdine to work out the answers.
Exdinple: 9+ 7+ 9+9=Ux9=3
2131 % 350 = — =+
. _ o\ T 8927 36 45 5] gzt o)
fio0's[10s [ 1's | [oos[10s [ 1's | [f00°s[10's [ 4| > 252 + 37 . B I x 9 = 219 x 9 =
I + = 6. 382 + 6I3 2 9 x 2 - © 3x 9 =
| | 7 8ug ©_ 700 = ? 5
—| 5 10 x{ 9= 6 9 x 8 =
- L o s 5 798 5 Db = — —
; ;: - I37 - 7 x 5 = 8. 7 x q b=
[Ho0’s[10°s [ 1’s | [00’s [10°c ['s | = - R
2 - = - ld = 9od x 9 = . 9 x 6 =
Write in the missing
ny86 + 71 = ey + sul = 15 2802 #4087 multiplication facts.
I, 288 = q’ = N ) Llsq = 96 = lé -/\8 76 = I q X = 63 2 X q = 36
| — - -
17, + 93 = 3y |8 366 + =u28 7__ 92 = uée9 3 X q = I8 " qx =qo
20 Y48 - = 355 |2 - 03 = 3¢l |2 556 - =470 |, g x =54 |s x 9§ =2
23 ” + t.)o + 7 = ‘ L(Q + 7 + 3’0 = G Wrife fhese number —
v - words as numerals, then
530+ 2 + M = 2 2 + 150 + 35 = round to the nearest I0. >
B2 Example: 23u= 230, 178 < 180 Rounded
27 6 + 12 + 250 = 2260 + 12 + 6 =
, hine hundred and N
29. I60 + 2d + 3 + yl + .?80 = ' nmefy_four
5. If you have 3563 and are given 3186, , hihe hundred and N
how much money do you how have? '~ seventy-one
= seven hundred N
If you have 3877 and spend 3385, and forty-nine
how much money do you have left? four hundred and
: =
= ) seventeen
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et Numbar Knonledy:

Morkshest 10

Bke Name: Class:
Write in the missing numbers as you skip count backwards in 7's.
,,qf 14 14 14 q” 14 14 707 14 14 14 14 357 14 14 14 7
E Skip counting in 7's, write the Write these
number that comes numbers in order 772 1557 296 8u3
before and after ... from largest to
smallest. W99 631 1529 . 1090
! 28 2 y9
3 Sl d, 57

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 23 + 15 = 38

= 26.

25 310 + U2 + 7
7. 32 + 5 + WO

8 + 31 +4d20 =
2% 24 + 360 + 5

29 10 + 82 + 94 + 3 + 320 =

If you have 375] and are given 3176,
how much money do you now have?

30.

If you have 3775 and spend 3493,
how much money do you have left?

3 515 +°28I

+ = 726 + 152 =
[100's[10’s [ 1’s | [100°s[10’s [ 1’s | [100’s[10°s [ 1’E | 5 U3 + 536 =_ @

: + = ‘6‘ 265 + 723 =

é | . 887 Ol =

- = 5 673 - 135J)=
?; -

100°'s[10’s [ 1’s |, [100°s[10'5 [ 457 [100’s[10’s | 1’s 205 1322 =

2 \ = lo. Gy - 602 =
290 + 98 = 2 92 + Ui 5 3930 A= 00

v 539 - 9y = 5427 - 66 = le. 365 - J7 =

i+ 92 AR89+ = 36!-/:/9‘» 4 B = 557
20357 - | 9063 |2 - 750= 473 2 u79 - =386

2 7 +260+ Il = ’24\"10+ 6 + 13 =

: Skip counting ana idliplying in 9's,

Use the numberlinado work out the answers.
Fxam@len 9+ 949+ 9=ux9=36

o —————
0 (71108 197] 36 u5| 5w 63/ ma EhiD)

L ahx 9 = {5

‘ x 5 =
|
3.9 x 9 =7 v 10 x 9 =
5.[)(('_6.9)(8:
.0q N A = & U x 9 =
9 3>x 9 = lo. @ x 7 =
’ Write in the missing
multiplication facts.
.9 x =27 |2 x 9 = 8l
3 x 9 =9 |4« g x =u5
5 9 x =72 |e x 9 = 36
G Write these number B
words as numerals, then 4
round fo the nearest 10. ”
Example: 234= 230, 178 = 180 Rounded
three hundred
: =
and twenty-one
three hundred o
and thirty-six
six hundred and
) =
sixty-three
nine hundred
u, =
and twelve

Copyright ©,00s AWS Publications Ltd



st Numbt Knowledze Worksheat 11

Bké

Name: Class:
Write in the missing numbers as you skip count in 6's,
14 14 ,8, 14 14 14 LIQ’ 14 14 14 66, 14 14 14 qol et 14 ,08
E Skip counting in 6's, write the Write these
number that comes numbersinorder | 1532 543 127 1138
before and after ... from smallest to
largest. 2019 1384 155 828
I 72 2 g
3 51 Y g95 y. \ 4. .4
Add or subtract these numbers. ﬂulﬁplymg by 3's, G'siV's, 8'sor 9.
Wl’ife The equahons for OI and Oe?. Examp!e.'@+ 5.-5 0 1+, 6's: 4 1218, 2u, 30, 36, U2, U, 5,4’ 60
&@: 7500 7, Wt 21, 28, 35, U2, U9, 56,153, 70
3 A6+ S = G- s: B, 16,24, 32, 40, U8, 566U, 72,80
- SO 918,27, 36, U5, 5, 181 90
+ = (Bl 4 173 = i = i
[00s[10s [ 1's | [i00's[10°s [ T's | [100s[10°s [ 4] |~ 252 + 323 = GO MS x 3= @226 x 7 =
I + = 6. l-!33+l-!35—'__ 27 x 3 =m0
| | . 5580 W2 =
— |5 & x/ 0.= 6
- | L 5 763 - W22 = —
- ; : _— X 1‘0 = 8.
[Hoo’s[10’s [ 1’s | [00’s 5—57 100’s[10’s | 1’s “" Bus) - SIS = -
2 - = 379 - lé7 = 93 x 8 = 10.
Write in the missing
25 + 76 = 163 + 17D = 15 360 L6 multiplication facts.
o319 - 38 =, 5226 - 3 = |68 - 66 = L 3 X =24 |2 x 4 = o
| — _ -
1. + 250 5 308 (15 U93 + =566 " 4155 = 218 | ; X 6 =18 |v 7 x =70
20 208 - =162 |2 Ud = 27402 U36 - =382 |5 § x =56 |e x 9 = &l
2 5 + 320 + 83 = | 120 + 53 + 3 = €] Write these number =
W 4 - words as numerals, then 4
5 220+ 6l + U = |2 U2 + 6 + 320 = round to the nearest I0. ”
Exarmple: 23U= 230, 178 = 180 Rounded
753 + 3 + IO = 2% 3 + 200+ dl =
five hundred and N
29 2 + 180 + U3 + 5 + U60 = Sevenfy_fhree
. If you have 3129 and are given 366, three hundred -
how much money do you now have? ~ and twenty-eight
= four hundred and N
If you have 3139 and spend 382, thirty-seven
how much money do you have left? six hundred and R
= eighty-two
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et Number Knouledze Worksheat 12

Bké

Name: Class:
Write in the missing numbers as you skip count in 7's,
77 et 2’7 14 14 14 14 567 14 14 14 q’l 987 14 14 14 ,26
E Skip counting in 7's, write the Write these
number that comes numbers in order 1073 yeél N34y 1648
before and after .. & from largest to
smallest. 666" 19 715 . 557
I 56 2 77
s 29 . 92 - A\ PR, ..

Add or subtract these numbers.
Write the equations for Ql and Q2.

FExample: 623 + 15 = 43&

+ 52 + 270 + U + 150

29.

3

If you have 3Iud and are given 327,
how much money do you nhow have?

If you have 3162 and spend 335,
how much money do you have left?

: Multiolying by 3's, 65)7:5°8's or 9's.

G
O

\\‘é_

5.

G

. 76 + Id =
+ = ’ - Ye2 + 321 =
[100’s[10’s [ 1’s | [100’s[10’s [ 1’s | [100’s[10’s | 1!; .'5‘ G+ 255 =_ @
! + = o 671 + 127 = |
i | § 7 789, © 203 =
- - N 5. 855 I =
’A , -
100°s[10’s [ 1’s |, [100’s[10's | gl 7 w7 335 =
2 . = 0. 897 - Jlé =
. 281 + 38 = 12 G4 + 134 13 382 =
u Y8 - Sy = 15,366 - 73 = l6. 206 a3 =
n_ o+ 162 SR8\ 0+ = 317 1/7‘_ - 382 = u36
w306 - | 22252 - 875260 (pu27 - =342
2.2 +3O+ 32 = |l + 72 + 7 =
5 )0 + 51 + 5 = % 23 + U + 340 =
27 22 + 3 + 220 = 2 6 +2d0 + 13 =

6's: 61212 24, 30, 36,42, U8, 5u, 60
7s: 74, 2128, 35,42, U9, 56, 65,70
8's. 8,18, 24, 32,40, U8, 56, 64, 12,50
ek 9, 18, 27, 36, U5, 5, f‘_”?, hgc

1 7\\
P

w x 3 = | x

u
8
6

~N

ox 8 = lo.

Write in the missing
multiplication facts.

3
60 |v

8§ x =172 |s

;5 nine hundred and

Write these number
words as numerals, then

round to the nearest 10.
Example: 23d= 230, 178 = 180

Rounded

eight hundred
and ninety-one

one hundred and
s =
fifty-seven

nineteen

seven hyndred N

"~ and seventy-four
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st Numbst Knowledae Workshest 13

Bké Name.'

Class:

Write in the missing numbers as you skip count in 8's,

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 23 + 15,38
3 56l - 36 =
+ = w254+ 6dl =—
fovs[ios [ Ts | fous[ios [ 1s] fovs[ios s | 262 + 135 = &0
: + = o 76 + 281(=
J-I_|_ » 7690 D33 =7
%i; L - s 6890 W28 =
e e 10&5-‘5 I B 7/ E
2 X - 999 - 56l =
Ly + 54 = 12793 + 370 = 6D £S5
w38 - 62 =o 5 5l7 - U3 = |edlis -082 =
7 +228% 5l | l6l + =243 b | 4 85 = u27
20327 - =276 |2 & 73 = 3602325 - = 26l
2.2 +J60+ MW =1 " [, 550+ M + 2 =

26,

5 430 + 31 + 5 20 + 6 + 260

3 + 150 + 2

28,

27 2d + 3 + 330

29 92 + 3 + 380 + 200 + 2

If you have 32uU3 and are given $29,
how much money do you nhow have?

30.

If you have 3137 and spend 385,
how much money do you have left?

8’ 14 14 14 '.{0, 14 14 14 14 80’ 14 14 14 ,,2, 14 14 14 ,L{L{
E Skip counting in 8's, write the Write these
number that comes numbers in order 1981 1743 327 1295
before and after .. &+ from smallest to
largest. 612 159 1564 872
I 32 2 é6u
3 79 L/. g5 y. \ 4. .4

wcdfblyhg by 3's, &sPs, 8's or 9.

o gelin | 65 (812,18, 2, 30, 36,12, U5, 5u, 60
& @: 7600 7, 14 21, 28, 35, U2, U9, 56,63, 70
94 s: B, 16,24, 32,40, U8, 56/ b, 780
gy 9,18, 27, 36, U5, Suaid, 181 40
ol x 3 = 206 X 6 =
3.7x,2.-__ “ 5 x 8 =
5 3 xl @0.= 6 3 x 5 =
x99 = &8 6 x 7 =
9.0 x 8 = 0. 9 x 8§ =

5.

G

Write in the missing
multiplication facts.

3 x =g |2
X 6 =12 |« 7 x = 63
8 x =16 |s x 9 = 36
Write these number _
words as numerals, then 4
round to the nearest 10. ~
Exarmple: 23U= 230, 178 = 180 Rounded
five hundred and
. =N
sixty-three
eight hundred N
and eighty-one
four hundred and
. ) =
thirty-six
one hundred and N

eighteen
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st Numbst Knowledse Workshest 14

Bké Name.'

Class:

Write in the missing numbers as you skip count in 9's,

Write the equations for Ql and Q2.  Example: 23+ 15 -

If you have 3237 and are given 359,
how much money do you how have?

jI<b =

30.

PN If you have 3172 and spend 358,
fe :k how much money do you have left?

évyvvu -

4

l66

3 636 + 135 =
+ = I 202 + 6l6 =
fovs[10s ] 7s] [oos[10s[1s] fousliws]re > 00 + 325 =
! + = o 5y + 185 =
. o ! » 769, @ 34l =,
- J' = 5 U79 2 =
=
100's[10’s [ 1’s 1. [100°s[10's | gl 7 a5 522 =
2 Y = G357 - 334 =
256 + 62 = |12 44 + 3uU3 15 USU . B =
u 316 - 25 = 152U8 - 87 = 6. 397 U2 =
7 4+ 176 S225 073 + =236 : = 325
2 4l9 - 338 |2 - @ =392 M8 - =
2 2 +230+ U5 = | )30 + 64 + 5 =
5430+ 23+ 5 = | Ul + & + MO =
2 5 + 2 +530 = |3 6 +460+ 3 =
29 84 + 190 + 2 + 12 + 320 =

9. )
O
&

N 6’&_

“

.

3

5.

, nine hundred and

G

;5 two hundred and

q’ 14 14 36’ 14 14 14 72’ 14 14 14 ,08’ et ,267 14 14 14
E Skip counting in 9's, write the Write these
nurnber that comes numbers in order q13 386 I15u8 66l
= before and after ... from largest to
smallest. 1227 553 1090 . 1379
I 27 2, Sy
s 69 Y, 88 - A\ PR, ..
Add or subtract these numbers. :Muﬁblying by 3's, 65,75, 8s50r9s.

6's:
7s:

6,121 24, 30, 36, U2, U8, 54, 60
74, 2128, 35,42, U9, 56, 65,70
8,18, 24, 32,40, U8, 56, 64, 12,50
9,18, 27, 36, U5, 5u, 6ap72, 51,9

W
®

e

& x5

9 x 8

S

x
|
o

. 3 x 8
. 8 x 7

O\
™
I
O

<Xx 8= |o.9x |

Write in the missing
multiplication facts.

8
ug
32 |e x 9 =u5

3 x

=30 |2 x u

X 6 =54 (v 7 x

8§ x =

Write these number
words as numerals, then

round to the nearest 10.
Example: 23d= 230, 178 = 180

Rounded

seventy-one

two hundred and
eighty-four

seventeen

three ~Aundred

and forty-eight >
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st Numbst Knowledae Workshest 15

Bké

Write in the missing numbers as you skip count backwards in 8's,

Name:

Class:

,L(L{f 14 14 14 ,,Q, 14 14 88’ 14 14 14 14 LIS’ 14 14 14 ,6,
E Skip counting in 8's, write the Write these
number that comes numbers in order o  u3d 1109 121
before and after .. J& from smallest to
largest. 683 1357 795 1666
ug 2 80
6l . u7 .\ 4V, .4

Add or subtract these numbers.

Write the equations for Ql and Q2.  Fxample: 23 + ¢6= 45 1, | 6's: (612,18, 2u, 30, 36,42, U8, 54, 60
&@: 7500 7, Wt 21, 28, 35, U2, U9, 56,153, 70
3 U482 A = . s: B, 16,24, 32, 40, U8, 56( o, 73,80
— SOy 9, 18,27, 36, U5, 563, 1 &L 90
+ = “w (50 + 349 = o s & A
[00s[10s [ 1's | [i00's[10°s [ T's | [100s[10°s [ 4] |~ 763 + 202 = Col o x 3= @26 x| =
I + = 6 3/l-l+583—'__ 27 x U x 8 =
| | 7 8780- 052 = —
- —1 5 9 x .= 6 3 x 3 =
- == 5 8670 I5d = — —
- = - X7 = & U x 7 =
mm 1's 10& %‘— s—| 57‘7 = 3-?8 - _ [
2 - = |F08U8 - u33 = .07 x 8 = . 9 x 10 =
Write in the missing
n 39 + 25 = 176l + 360 = 1. 385 L7012 multiplication facts.
v 527 - 76 = 5 Y36 - 73 = |6l 5 -6l = . 3 X = 6 2.
| _ -
1, + U8is 819 10292 + =375 h 4 U66 = 5U8 | ; X 6 =u2 |v 7 x =28
2. 328 A S 27d |2 9. = 2732 718 - = 655 5 8 x =4qdo |e x 9 = 5y
5 4 +530+ 5 = (W 230+ U2 + 5 = €] Write these number
W 4 - words as numerals, then
5 340 + 55 + 2 = 2 5 + 7 + 430 = round to the nearest I0. >
3 Example: 23u= 230, 178 < 180 Rounded
a7 64 + U + 420 = 2 3 + 330 + 62 =
, hine hundred and N
29 3 + 300 + ydo + 62 + 9 = ' sixteen
. If you have 3215 and are given 3u8, six hundred and N
how much money do you now have? thirty-nine
= seven hundred N
If you have 3152 and spend 338, and ninety-three
how much money do you have left? four hundred and
. = =
= ! sixty-one

wcdfblyhg by 3's, &sPs, 8's or 9.
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et Number Knouledze Worksheat 16

Bké Name: Class:
Write in the missing numbers as you skip count in 5's,
3’ 8’ 14 14 14 14 33’ 14 14 14 53' 14 14 68’ 14 14
E Skip counting in 5's, write the Write these
number that comes numbers in order 260 1018 158I 742
before and after ... from largest to
smallest. 125¢°. 325 539 . 1688
I 35 2, 60
3 79 u, 96

Add or subtract these numbers.

27.

29.

30.

%) - <<

AWS

28,

S+ 2 + 80 3 + 50 + 426

370 + Ul + 5 + 33 + 260

If you have 3239 and are given 358,
how much money do you how have?

x 3.

If you have 3175 and spend 378,
how much money do you have left?

3

o

X‘S‘\l"

: Multiplying by u's, 6 $)7:4)8's or 9's.

Write the equaﬁons for Ql and Q2. Fxample: 523 + 15 - 63& 1, | 65 612,18 2u, 30, 36,42, U8, 5, 60
égg‘ P 7's: A0 14, 21 28, 35, U2, U9, 56, 6170
4+ 6Ud = ¢ | 85 . 8 8 2u, 32,40, U8, 56, 64 12,60
E— 15 9, 18,27, 36, U5, 5u, fan72, ChA
+ = 030 33 = — ’ - =
[100's[10’s [ 1’s | [100’s[10’s [ 1’s | [100’s[10’s [ 1’S .'5‘ Q77 0+ 32 =_ A L Ovx U = | & X 6 =
! + = <7602 + 385 = ’37,(3_ ok g -
o ! 7 5uq. D 3] = 7
| — 5 8§ x ¢ = 6 U x U =
- ’\ 9 | 5 U86 205 = — —
- _ 7. 5 10 = 8. x 7 =
100's[10’s [ 1’s 1. [100°s[10's | gl 7 a’6 I = — 7 —
2 Y = 01976 - 652 = 9 I>x 8 = lo. @ x 6 =
’ Write in the missing
492 + 53 = 2 827 + 282 15 576 3 = multiplication facts.
w275 - 8l = 15577 - 87 = . 357 €3 = L3 x =27 |2 x U =28
7. + M =235/ I3 72 + = 289 ‘/‘7‘_ o 6 = 339 | ; X 6 =24 |v 7 x =42
20 636 - | =089 |a - @3°-232 1 259 - =170 |s § «x = u8 e x 9 =72
2 2 + 80 + Ul7 = B, JO + 655+ 4 = €] Write these number -
R \ - words as numerals, then 4
5 .20 + 131 + 6 = % 5 + 3 + 0 = round to the nearest 0. >
Example: 23u= 230, 178 < 180 Rounded

' and ninety-two >
, seven hundred N

" and thirty-seven

two hundred and
=
seventy-three

six hundred and

) =
twenty-nine

three ~Aundred
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st Mumber Knowledze

Bké

Motksheat 17

Name: Class:
Write in the missing numbers as you skip count in 6's,
67 14 ,8, 14 14 14 14 LIS’ et 60’ 14 14 14 14 qol 967 14
E Skip counting in 6's, write the Write these
number that comes numbers in order 1277 606 léud 189
before and after .. - from smallest to
largest. 17l 538 254 ll67
I 771 2 30
3 69 u 5l y. \ 4. .4

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 23 + 25

2 3180 3y =
+ = (300 v 557 =«
fovs[iosT1's | foos[ios [ 1s] fovs[osfac]| 9P + 172 = &
L + = 6 U4 + 6U2(=
| |—|_ » 5380. (o3 =7
éi; - s 7390 W25 =
= %_-_' A1l g85 - 232 =
2 - = ] 579 - 331 =
w294 + 8l = Y90 + 18D = TSN A
MUST - M = 5289% 97 = _ |sd537 -6 =
7+ Gis uds | 93 + =335 89 = u59
20 336 - =264 |2 o /6 = U7ip2359 - =297
27 + 20 + 36l = 50 +5+ 3 =

n W
2 251 + 7 + WO
6 + 30 +uU52

25 20 + 571 + 5
7.2 + 2 + 50

28,

29.580 + 190 + 22 + 13 + U

If you have 32ué6 and are given 339,
how much money do you nhow have?

30.

If you have 337] and spend 337,
how much money do you have left?

_‘;umplymg by u's, &is Vs, 8'sor 9s.

o gt | 65 (512,18, 2u, 30, 36, u2, U, 5, 60
& @: 7600 7, 14 21, 28, 35, U2, U9, 56,63, 70
94 s: B, 16,24, 32,40, U8, 56/ b, 780
gy 9,18, 27, 36, U5, Suaid, 181 40
8 x 4 = 206 x 4 =
37 x 10 =0, |« 9 x 8 =
5 | x{ 9u= 6 U X 6 =
X/ 2 = 8 7 x 7] =
93 x 8 = . 9 x 5 =

Write in the missing
multiplication facts.

L3 x =2
i X 6
8 x =64

= ug

5.

Write these number
words as numerals, then

round to the nearest 10.
Example: 23d= 230, 178 = 180

= (BN
Rounded

one huyndred and

cight-three =

eight hundred
" and seventy-two

eight hundred
and thirty-eight

three ~Aundred

: =
and twenty-seven
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et Number Knouledze Worksheat 18

Bké Name: Class:
Write in the missing numbers as you skip count in 8's,
8’ y —— 9 32’ 14 14 14 14 72’ 14 14 96, 14 14 14 ,28, 14
E Skip counting in 8's, write the Write these
number that comes numbers in order 770 U6 1884 817
before and after ... from largest to
smallest. IS 394 1733 . 1059
I 72 2 g
s 3l u 85 Y. \ 2. .2

Add or subtract these numbers.
Write the equations for Ql and Q2.

438

Example: 23 + 615

3 U522 + I35 =
+ = ok 5 4 I =
[100's[10’s [ 1’s | [100’s[10’s [ 1’s | [100’s[10’s [ 1’S .'5‘ B3 + 232 =_ @
! + = & 3l6 + 282 = |
i | 7 985, © 70 =
- RN s 877 \UEB =
- : -
100°s[10’s | 1’s | [1o0°s[10's | gl 7 906 235 =
2 1 = o 95 - M| =
nuy83 + M = 12. 82 + 397 15 593 6 =
u 236 - 91 = 15425 - 32 = 6. 3559 % &9 =
17, + 64 S 236 s 6 + = 547 ‘/‘7‘_ 02 =259
0. S5 - | =053 | - &2 = 362 | 669 - = 576

23.

‘JLA 30 + 632+ U
g7l + 8 + 20
S + 20 + 254

3 + 20 + 376
U + 531 + 8
Ml + 5 + o

25, 26,

27. 28,

320+ 3 + 82 + 0 + 9

29.

If you have 32U8 and are given 338,
how much money do you now have?

30.

If you have 3183 and spend 357,
how much money do you have left?

B

e -~ a 2
I x U = { & . x 7 =
|
37 x 2 =47 « 7 x 8 =
5 3 x Q= |6 Ux 5 =
7. 5 o = & Y x 7] =
9 I0x 8 = lo. @ x 8 =
’ Write in the missing
multiplication facts.
. 3 x =12 |2 x U =24
E) X 6 =30 |« 7 x = 56
5 8 X = 8 |s x 9 =9
G Write these number B
words as numerals, then 4
round fo the nearest 10. ”
Example: 23U= 230, 178 = 180 Rounded
four hundred and N
fifty-four
two hundred and N
twenty-five
six hundred and N
forty-five
five hundred and N

itiolying by U's, 657518’ or 9's.

6's:  6/12.1% 24, 30, 36,42, U8, 5U, 60
7s: 7 I, 21 28, 35, U2, U9, 56, 65,70
&8s 8,18, 24,32, 40, U8, 56, 61, 72,
9,18, 27, 36, U5, 5u, fap72, 51, %

1.
=
O\‘g !

7

n

fifty-two
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st Numbst Knowledue Workshest 19

Bké Name: Class:
Write in the missing numbers as you skip count in 9's,
q’ 14 14 14 L(51 14 63, 14 14 14 14 ,08, 14 14 ,351 14 14
E Skip counting in 9's, write the Write these
nurnber that comes numbers in order 1329 650 1178 1943
& before and after ... Jw from smallest to
largest. 287 335 ey 772
I 63 2, U5
3 19 . 87 y. \ 4. .4

Add or subtract these numbers.

Write the equations for Ql and Q2.  Example: 523 + 5= 565

]

+ 24 + 380 + 3 + 260 =

29.

If you have 3157 and are given 328,
how much money do you nhow have?

If you have 3256 and spend 328,
how much money do you have left?

wcdfblyhg by u's, &is Vs, 8'sor 9s.

o@f

s 127 7l =
+ = w(BYS + 342 =—
fovs[i0s [15] [ovs[ios [1s] fevs[roslic]| WM + 355 = 0
I + 6 Ml + 25d(=
| > . 9790 (56 =
+ - s 8650 20 =
[floo's[10’s [ 1’5 1;5—;57 100's[10's | 1's 390 - ’?Wz_
2 - = 90859 - 327 =
345+ 91 = |A93 + U350 = | UL B9 o0
w236 - 64 =4 s T - 7l = 64289 062 =
7. 4+ 53 uis | 82 +  =ued s 93 = ué69
2. 675 - 90, = 38002257 - = 63
2.7 +00 + 612 =" |% 60 +533+ 2 =__
» 70 + 76 + 3 = | 26l + U + 20 =
7463 + 4 + 30 = | 6 + WO + 321 =

s: (612,18, 24, 30, 36, U2, U, 54, 60
7, I 21, 28, 35,42, U9, 5¢, 63, 70

s: B, 16, 24, 32,40, U8, 565U, 13,80

| gs. q,18,27, 36, US, 5v’_’a, _ &l 90
F3 x U= @26 x5 =
57 x 9= |+ 6x8 =
510 x{ %= |6 U x & =

X071 = &85 x7 =
9.2 x 8 = o 9 x | =

Write in the missing
multiplication facts.

X

é6

I8 |2
= 36 |
2U e

Write these number
words as numerals, then

round to the nearest 10.
Example: 23d= 230, 178 = 180

L3

3. X

5 8 x =

G

Rounded

three hundred
and fifty-three

seven hyndred
and seventeen

eight hundred
and thirty-five

. nine hundred and

=
seventy-one
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et Number Tnowledoe Workshest 20

Bké Name: Class:

Write in the missing numbers as you skip count backwards in 9's.

,627 1 1 ,351 1 1 1 qqf 1 1 1 63’ 1 1 1 1 ,8’
E Skip counting in 9's, write the Write these
number that comes numbers in order 819 1852 1597 736
before and after ... from largest to
smallest 80T 362 dd7 . Id76
! 90 2 63
s 37 u 8d Y. \ AN . .2
Add or subtract these numbers. :Muﬁblying byu's, 65,74, 8s or 9.
Wrife The equaﬁons for QI and Q2. Fxample: 23 + 715 738 1x, | 6's: 6/12.12, 2u, 30, 36, U2, U8, 54, 60
%‘ 7| 7's: 408 I, 2L 28, 35, U2, U9, 56, 6370
3. 682 + 3IC = 9§ | 8. 8,15,24, 32,40, U8, 56,64 72, ¢0
. B D5 09, 18,27, 36, U5, 54, 6373, k9.
+ = . 25 + 6M = — ’ - = —
[100's[10’s [ 1’s | [100’s[10’s [ 1’s | [100’s[10’s [ 1’S .'5‘ a3 o+ 384 =_ _‘ LK x U = ! & x 8 =
_ : - |
I + = | ‘6307+57.? L 7 x 7 = U x 8§ =
L ol 7 789, © 6l =
| — |5 2 x = 6 U x | =
- b= | 5. 636 343 = — —
_ X U= 8 6 x ] =
100°s[10’s [ 1’s |, [100’s[10's | gl To0s[10s [ 1 |0 9 M2 = g - -
2 9 = 0. 978 - 625 = 9 Yx 8 = lo. q X 3 =
’ Write in the missing
272 + 64 = 2. fo + 371 15 397 D = multiplication facts.
u 345 - 53 = o |15 564 - 82 = 6. 669 16 = L3 X =15 |2 x U =20
14 + 281 =375 |5 090 + = 577 :/9‘_ kA = u57 | X 6 =6 |v 7 x =2
20457 - | 20383 | - @2 = 697 (» 339 - =26 |5 8§ x =80 |s x 9 =90
2 2 + 20 + 6 = NS0+l + & = €] Write these number -
R \ - words as numerals, then
5 8 + U4 + 5 = % 334 + 4 + 20 = round to the nearest I0. 2 -
Example: 234= 230, 178 = 180 Rounded
27.265+ 2 + 10 = % 3 + 70 + 625 =
one hundred and o
29 31 + 370 + 52 + 250 + U4 = twenty-seven
so.  If you have 3368 and are given 339, , two hundred and N
how much money do you now have? ' sixty-four
I~$ = , five hundred and N
& \%,\ 3. If youhave 3178 and spend 359, seventy-two
[x o2 how much money do you have left? , one hundred and R R
% = ' forty-six
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Rt Humbsr Knowleds Workshest  21)

Name: Class:

Write in the missing numbers as you skip count in 5's,

L(f _ ,Lll 1 1 1 1 39’ 1 1 5'-{, 1 1 1 7'-11 _ 1 89’ ql-{
E Skip counting in 5's, write the Write these
nurnber that comes numbers in order 209 1198 653 1795
& before and after ... from smallest to 260 Sud 1382 w27
largest.
I 25 2 55
3 78 Y 99 8
Add or subtract these numbers. —' j Multiplying by 55, 6's, 8's or 9's.
Write the equations for Ql and Q2. Fxample: 23+ 45 =938 | " . &5 16,2, 32, do, U8, 56, 64, 72, 80
y 132 059 = qﬁ%" L's: 26,27, 36, u5, 54, 63, 7,81, 90
+ = € ASh + 347 = LSS = |2 6m o
[lo0s[10’s [ 1’s | [100°s[10°s [ 's | [100°s[10’s | %] ‘ - + 525 = 75! a8 x I = w2 qg =
- 33'-’ + = QQC
- ; 5 8§ x 3 = 6 6 x Y =
7. 851 - 248 = — -
% s 8.)‘ N 5(,?—‘ 7. 8 X q = 8. q X q :_
= é!‘ R “ U29 = 312 |9, #X,5 = 3 |0 6 x =36
s i = 271 i3 x =80 |2 «x
| . < .
6 + W0+ 79 = L 60 + 9 + 58 - & F ergivgi;:efgzzmg
64 + 7 + 60 = | 5 + 88 4+ UO =
5 80 + 38 €06 = 6 276 O P = PR U= 1236% 6 =
g o+ e Bu= 123 |5 630+ 7 vl = 136 | W T = |wUOF & =
9. 76 St = 122 |® 2+ 6 =120 |5 36 + 9 = |6ed0+ d =
2.5 + .50 + 26 + 280 + . 5 = 754+ 6 = |suUg+ 7 =
22 If you have 3259 anii are given 37, & 9 6y + 8 = o 54+ § =
how much money do you now have? - —
i Colour in'/; of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 10, Example: 2342 230, 1782 180

LoI7I6 2 Y33 o LS5 x oo = |2 6 x 20 =__
ERC Vo u 3887 = 5 80 x 7 = “ 30 x & =__
5. 2519 = 6 158 = 5 9 x 30 = 6 2 x 90 =

7. 265 = 8 l62d = ; x 3 = 300 |5 100 x = oo

AWS
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<o lluiber Knowledse Worksheat 22

B Name: Class:

Write in the missing numbers as you skip count in 7's,

4 4 2" 4 4 4 4 567 4 4 4 8'-{7 q’l 4 4 4

B secommarrswmene [ wreree s e srs o
before and after ... fr o’:ﬂ:‘;’;ﬁi‘;’ fo 1233, 789 1906 170

L 35 2 50 \ D

i M ¢ 89 T — T —
Add or subtract these numbers. . ;umplying by 35,6, ?'.s_or 9s.

Write the equations for Ql and Q2. pxample: 23+ 915,938 s | 85 8482 32,0, u8, 56, 64,72, 80
x;i =

9's: 9,13, 217 36, U5, 5u, 63, 72,¢1, 90

3 157 + £J7 = | —_— - —
+ - Y. 25‘ A'? = I, 3 A 3 :— 2. 6 X S = y
[lo0’s[10s [ 1’'s | [100’s[10’s [ I's | [100’s[10’s | 1% | 5'_ - 558 = 983 3 x 2 = b UxTg o=
! + = 796 + = Zag | |
— 5 10 x 3 = 4 6 x 8§ =
| | (LY7 973 - _328%= - —
i A\ 5 5580 Waw! |7 8 x @l 6 x 9=
[lo0's[10's [ 1’s | |100’s|ﬁ?':sj 100's[10°s | 1's | q'_ 9 936 =262 |7 (¥ 3 =6 o 6x =6
2 - = 6 765 - =178 |, Ox =56 |2 x
83 + 600+ 9 = W90 + 6 + U8 = _’ Wn;%gi::efgzgjmg
& + 75 + 50 =1 M5 + 79 + &0 =
5. 50 + 85 + (7. = 6. 96 +030(+ 3 = e
g o+ CWZA =I5l |5 d 48R = 3 | M7= 8
9. 57 + 1 6 =133 ¢, + 8 + U6 = I |5 8+ G = |63+
2 2 + ¢ + 190 + b+ 80 = T4+ 6 = |8 63 %
22 If you have 3Uu3 and soend 376, N ~ |9 56+ & = 0. I8 +
how much money do'you have left? —
i Colour in'f, of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

L U8l = 2 7237 = L7 x 100 = 2 8§ x do =

3 U269 = v 322 = 3 50 x 9 = v« 120 x 2 =

5 743 = 6 8173 = 5. 3 x 200 = & 4 x 90 =

» 5138 = R S I x 5 = 150 |s 100 x = 600
AWS
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S Nuber Knowledss Morkshest 23]

B Name: Class:

Write in the missing numbers as you skip count in 8's,

8’ 1 1 1 1 ngf 1 1 1 1 88’ 1 1 ,,QI _ ,361 IL{L{
E Skip counting in 8's, write the C Write these
« number that comes . numbers in order 707 1963 977  u59
<@ before and after .. = from smallest to
largest. It 194 1125 1081
I 56 2, 88
3 7’ u, 75 - . A ~
E Add or subtract these numbers. —'j Multiplying by 55, 6's, 8's or 9's.
Write the equations for Qland Q2. Example:23+05=938 | |« [ gs. 5'16 2u 32 0, B, 56, 64, 72, 80
2 led 7 = 0’@" G5 96,27, 36, 45, 54, 63, 10,81, 90
+ = U A6+ 585 = LR = |2 6w C
[lo0s[10’s [ 1’s | [100°s[10°s [ 's | [100°s[10’s | %] ‘ _ + 359 = &493 a8 x 4 = Jui g g =
! + = 66l + =754
v, N 5 7 x 3 = 6 6 x 10 =
| 7 762_- 398 = — —
- *:l 8 750, - 5uz= & x(6 = 8 | x 9=
avsTios[To] foniTior] 107 fs[osws] | =20 < 86| LKy =R e 6 x =12
2 | = pWo - =167 1ig x  =uo |0 x
| o . . o -
L 38 + 80 + 7 = L 80 + 7 + M ~__ Wr’;fvg,.o’:ef;’:’ij”’g :
b7 + 69 + 90 W 8 + 858 +. 70 =
5 50 + 6 95 = 6 95 Db & = PBFE U s 12366 =
769 + e 03 = W2 |5 &0+ B3 s =I5 |F 7T 7 = |43+ 8=
9. 5 i+ = 163, | 8 +99 = |37 |5uUS+ 9 = |63+ U =
2. 49 + 60 + 23 + 280+, & = 7.2 + 6 = |& 2 + 7 =
22 If you have 3386 ciid are given 395, 3 | 916 + & = 0 63+ G =
how much money do you now have? - —
i Colour in'fs of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 10, Example: 2342 230, 178 180

L 3863 2 672 % LW x 9 = |2 2 x uo =
i 129 >  |u 1738 > 53 x 60 = |4 70 x 4 =
S 975 |+ 296% | s 200 x 5 = 6 6 x 50 =
PO8ds  |BWBe |, x50 = 350 |s 100 x = 800
AWS
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Wumbar Knowledas Worksheat 24

Name: Class:

Bké

Write in the missing numbers as you skip count in 9's,

qf 1 1 36’ 1 1 1 1 8,’ 1 1 1 ,,77 1 1 ,L{L{f 1
E Skip counting in 9's, write the Write these
number that comes numbers in order 647 1826 1513 339
<Hg before and after .. &> m largest t
anea ” from lorgestio 2065, 588 1652 804
! 5y 2 72 ) "~
s 38 . q7 \ @ A 4 A
Add or subtract these numbers. E Multiplying by 3's, &'s, 8's or 9's.
Write the equations for Ql and Q2.  Example: 23 + 915 938 o @,: &'s: 840,24, 32,40, U8, 56, 64, 72, 80
s 636 + - 5o | 9's: 09,18, 21,36, 45, 54, 63, 72,61, 90
+ = v 595 By = Lo 60X = |2 6 xmd sl
[100's[10’s [ s | [100’s[10°’s [ s | [100’s[10’s [ 1’5 | 5'_ _ 158 = 966 ;. & x 8 = |4 10 x % =
L + = 53 + = 726 |
— 5. 6 x 3 = s 6 x T =
| &l €Lz 750 - 1397= p —
] | s g6 Yoyl |7 8 x (f=lls 2 x 9=
[100’s[10°’s [ 1’s | [100’s[T0's ':sﬁ 100’s[10’s | 1’s | q'_ Y 28 = 376 " o 3 =2 o 6 X__ = 2
2 - = 67350 - =362 |, & x =72 |2 x 9 = 8l
Write in the missing
— 3 )
" 69+ 8G9 = RE7 + 58 + 60 0, division facts
o9 + 86 + 30 = w90 + 3 + &F =
5. 70 + 65 + (3. = 6. 56 +080(+ 7 = Pl = 2 36F 6 =
g+ W96 =155 |5 924080 L =70 P M T = |w80F 8 =
9. 84 + 9 = 3340, + 95+ 6 =171 527+ 9 = |62+ d =
val. 7 4+ 300 + 852 + ¢+ 80 = 76 + 6 = |83+ 7 =
2.  If you have 3265 and Spend 389, 9 Ys + 8 = .72 + 9 =
how much money do'you have left? — —
i Colour in'/y of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

L 157 @ 2 336 @ L 3 x 70 = |220x u =
2 72255 e SUmMe | L w0 x 5 = |u 6 x w0 =
53825 e 9 e | o . . g - s 50 x & =
7.3L168':>7 8. I.?95c>7 , x g =E s 92 x =6?
AWS
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@@@ tumber Knowledze Worksheat 25

Name: Class:
Write in the missing numbers as you skip count backwards in 6's.
,08 ,02 14 14 14 78’ et 667 14 14 14 L{Ql 14 14 14 ,8, 14
E Skip counting in 6's, write the Write these
« number that comes numbers in order ISué6 208 mnz 1262
ﬂ before and after ... from smallest to
largest. 89! 2035 379 683
l U2 2 66
3 79 g, q7 _
Add or subtract these numbers. —' j Mumplymg by 55,6's,8's0r9s.
Write the equations for Ql and Q2. rxample: 23+ 45 =935 | . s, 5716, 24, 32, do, U8, 56, 64, 72, 80
\ 739 4007 = qﬁ%" 10 6,27, 36,45, 51, 63, 70,81, 90
+ = U 600 +0192 = . = |2 émx o
[100°s[10's [ 1's | [100°s[10’s [ 1's | [100°s[10’s | 1% ] ‘ - + 269 = 63& sné x 1o = Jui 7w g =
= 593 + =20287
5 3 x 3 = 6 6 x 5 =
7. 757 - 238 = — -
= g,e‘ wsTee) | 253=628 |9, | #x,5 =30 |0 6 x =u§
|.’)' s 347 1 8§ x = |2
noed + 00 + 60 = 7 w0 write in the missing
: = N - diision facts
B 70 + 57 + & w50 + 3 4083 =
5 8 + 63 70 = 6. 75 @& 90 J = b3 d = 2 8F 6 =
75y + e 2= 6 |5 B+ sl =I5 (PHF 7 = M 72F 8 =
9. 2 O+ = 12&, | 8 + 7 =173 |572+ 9 = |6 d + U =
2. 90 + 6 + 530 « 7 . 7d = 7.60.—'6=_ 8.56.—'7:_
22 If you have 3576 ciid are given 368, 930+ 8 = o § + g =
how much money do you now have? — B
i Colour in'f, of
= this shape.
Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @
nearest 10, Example: 2342 230, 178 180 4
L 8634 = 2 462 = L 8 x 5 = 2. 6 x 200 =
. yée7 = v 3229 = i 7 x 200 = . 60 x 8 =
5 U871 = 6 353 = 5 60 x 9 = & 2 x 500 =
A IR L S x 300 = 900 |s 300 x = 1200
AWS Copyright ©,00s AWS Publications Ltd




Wumbat Knowledas Worksheat 26

Name: Class:

Bké

Write in the missing numbers as you skip count in U's,

2’ 1 1 1 1 QQ’ 1 1 1 38’ 1 1 1 5'-(' 1 1 1 707 7'-(
E Skip counting in U's, write the Write these
number that comes numbers in order 1237 792 1703 Sul
<Hg before and after .. &> from largest t
> o e 650, 82u 1886 I6l5
! o 2 28 ) ~
s 77 u 89 S X vW
Add or subtract these numbers. E Multiplying by U's, I's, &'s or 9's.
Write the equations for Ql and Q2.  Example: 23 + 915 938 o @,: &'s: 840,24, 32,40, U8, 56, 64, 72, 80
2 396 + O = o | 9's: 9,15, 21,36, U5, 54, 63, 72,45, 90
+ = . 6"’, n.’3 = A l.’ A 2 :— 2. 5 o7 = y
[100's[10’s [ 1s | [100’s[10°’s [ I's | [100’s[10’s [ 1§ | 5'_ . He5 = 873 6. x 9 = |4 IO x 7 =
I + = '93 + = 687 ’ |
— 57 x 2 = s 5 x 2 =
| ol CL7 qua - 1367= p —
i | s 7380 Gt P 6 x Lal|E S x 7 =
- A R = . = . =
[100's[10’s [ 1’s | [100’s[f0's [ A's | "}100’s[10’s | 1’s | q_ _ 278 = SI7 | * o W - 4o e 5 Xx__ 45
2 - = 665 - =493 |, Ox =18 |2 x
= < ) Write in the missing
6 + 500+ 65 = W80 + 9 + U2 = division facts
96 + 6 + 80 = me 8 4+ 6d + S0 =
5 70 + U7 + @ - 6 58 +070(+)5 = SR S L L
6+ WMIA = W5 |5 9 L9804 o= 137 |7 T F 7 = w80 8 =
9. 95 + 8 =193 g0, + 5 + U7 = Q2 |5 7R+ 9 = |6 d+d =
A 42 + 0 + 5 + o+ 72 = 760+ 6 = |8 A+ T =
22 If you have 3234 and spend 389, X, 9 56 + 8§ = . 90 + § =
how much money do'you have left? — —
i Colour in'/s of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

Lol e 2 7IM > L7 x o =__ |2 80 x 6 =__
s M83® v 327 | s 70 x 9 = |« & x 200 =
s 2195 |e 352 | . 3« wo = 6 700 x 2 =
P62 25 |, x5 =250 |s 4 x = 200
AWS
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Rt Humbsr Xnowleds Workshest  27)

Name: Class:

Write in the missing numbers as you skip count in 6's,

6’ 4 ,8’ 4 4 4 4 L{8’ 4 4 4 4 78’ 4 4 967 1 ,08

E Skip counting in 6's, write the Write these
number that comes numbers in order 23 242 1087 1956
= d aft =
before and after .. &> from smallest to 780 1664 538  Wl2
largest.
l 36 2. 72
3 53 u g7
Add or subtract these numbers. —' j Muﬂlplymgbyu ) 7'S 5sor95
Write the equations for Ql and Q2.  Example: 23+ 45 =938 |« 5716, 24, 34,40, 48, 56, 64, 72, 80
. 83 135 = qﬁ%" 9'5: Jlo, 27, 36, U5, 54, 63, 1,81, 90
+ = u 58, + 435 = N a B . = 2 5m _
[100's]10°'s [ 1’s | [100°’s]10’s [ 1’s | [100’s[10’s | %] ‘ _ + 278 = 733 306 x 10 = ol g w7 =
= 67U + =246
| I , 5 1 x 2 = 6& 5 x 3 =
7. 856_- A7 = — —_—
% 5. grn 590= 7.6)(5‘—8.le7:—
= g!‘ wsTee) | 228=3M |9, sx,2 = 6 |0 5 x_ =50
II’)‘ 7 - =882 Il 6 x—___ 36 ,-?-—X
& + 30 + 35 = L 6 + U8 + 900 F ergfvgi;:efgﬁ;mg
30 + 99 + 9 = |90 + 7 429 =
5 63 + 8 @90= 6 670 &0 b & = PRRFd= 230F 6=
o6 + e G6 = 172 |5 &0+ 38 o = 126 |2 O96F 7 = w64+ & =
9. d Ot = 2 |@ 7 +65 =132 |90+ 9 = |6d0O+ d =
2. 60 + I8 + U4 €25 440 = TU8 + 6 = |8 28+ T =
2. If you have 3372 anti are given 389, = | 9 16 + 8 = o ys + 9 =
how much money do you now have? - —
i Colour in'ly of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 10, Example: 2342 230, 178 180

L1827 = 2 49 = L 90 x 9 = 2 2 x 8 =

3 752 = v 4283 = s 3 x 500 = “ 600 x U =

5 399U = s 2l = s 70 x 5 = . 6 x 70 =
o366 > |5 3635 |, x 30 = 20 |5 300 x = 200
AWS
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Wumbat Knowledas Worksheat 28]

Name: Class:

Bké

Write in the missing numbers as you skip count in 8's,

8’ 1 1 1 1 ngf 1 1 1 1 88’ 1 1 ,,QI _ ,36I IL{L{

E Skip counting in 8's, write the Write these

number that comes numbers in order 822 1574 997 l036
<& before and after .. &> from largest to
smallest 2058, 2l 1385 669

I 6y 2 32 . _\

- % u q7 QW XvW
Add or subtract these numbers. g Multiplying by U's, I's, &'s or 9's.
Write the equations for Ql and Q2. prampe: 23+ 98\ b L [ 5 o050 002, 80

2 163 + 607 = & |95t 915 2136, U5, 54, 63, 72,1, 90
+ = 4 36é40 B2 = LIOCx020= |2 5 xmb =l
[100's[10’s [ s | [100’s[10°’s [ s | [100’s[10’s [ 1’5 | 5'_ _ 224 = 593 . 6. x 8 = |4 e x0T =
I + = '93 + =08 ’ |
— 5. 56 x 2 = s 5 x 6 =
| &l €Ly 895 - 1797= p —
_ N 5 7580 Gzyn’ |7 6 x =5 9 x 7 =

[100’s[10°’s [ 1’s | [100’s[T0's ':sﬁ 100’s[10’s | 1’s | q'_ A% 38 = 138 " o 2 =1 |05 X__ = o

2 ~ = BN - =U7s |y Ox =d2 |k x 7 =7
Write in the missing
— A |/

734U § o= \RET70 + 2 + 99 S0 division facts

9 + 65 + 50 = M6 + 8d + G0 =

5 U0 + 9 + @7 - 6 53 +080(+9 = LleEd s 2 RF6 =

8+ WMGa =136 |5 & Lud+l =136 |23 F T = |43+ 8=

9. 68 + 9 = M7 ¢, + 85+ 9 = Iy |55+ 9 = 628+ d =

279 + & + 80 + i+ I = U8+ 6 = |8 W+ T =

22.  If you have 3472 and spend 395, ~ g o+ 8 = 0. 36 + 9 =

how much money do'you have left? — —
i Colour in'/; of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

A TTRE 2 6361 = L3 x 90 =_ |2 60 x 4 =_
s A8 e w9 | 3 600x 5 = |u 6 x 300 =
s 26% [« 7935 | 5 7 x 500 = 6 U0 x 8 =

n 362> |5 385 = 7 x 9 =180 |& 2 x = Iuoo
AWS
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Rt Humbsr Xnowleds Workshest  29)

Name: Class:

Write in the missing numbers as you skip count in 9's,

qf 4 4 36’ 4 4 4 4 8,’ 4 4 4 ,,7l 4 4 ,L{L{f

14

E Skip counting in 9's, write the Write these
number that comes numbersinorder | 2022 2M 1397 636
@ bef d aft s t
efore and after .. &> from smallestto | oo s 985 1069
largest.
I 36 2 63
3 qu . 78
Add or subtract these numbers. —' j Muﬂlplymgbyu ) 7'S 5sor95
Write the equations for Ql and Q2.  Example: 23 + 45 = 933 @ 5716, 24, 32, do, U8, 56, 64, 72, 80
5 5u2 g = K> 9'5: 716,27, 36, U5, 54, 63, 7, 81, 90
+ = U AZ3 + 583 = L WD = |2 S C
[100's]10°'s [ 1’s | [100°’s]10’s [ 1’s | [100’s[10’s | %] ‘ . + 178 = &49I ine x 2 = JdT3w 7 =
= Us5 + =:BUY
. 5 Y x .? = 6. 5 X 7 =
L 7 886_- 199 = — —
-‘|_- 5. 7 Q5 76 x(9 = |80 x 7 =
= ée‘ e ¢ 632=258 |9, [ sx,2 =4 |0 5 x =10
2T - =298 | e x =6 |2 x
& +J0 + 83 = L850 + 7 + 79 - & F ergivgi;:efgzzmg
3 60 + 7 + 66 = |9+ 68 + 70 =
5 U 4 &7 A 6 82 D h P = L8+ U= |2 6+ 6 =
78U + e gz 123 |5 6+ 85 s = m |PTOF T = (v UET 8 =
9. & 260+ = 12w |@ W+ 8§ =162 |5 9+ 9= |632+d =
2 68 +.90 + S £330 4\ IT = 754+ 6 = |lsUg+ 7 =
2. If you have 3284 ciid are given 387, | . 4yo + 8§ = o 8 + 9 =
how much money do you now have? - —
i Colour in'f, of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 10, Example: 2342 230, 178 180

L 3839 = 2 uysy = L 9 x &5 = |2 6 x 500 =
soam e |e3sw9e | s 7 x 00 = |« 70 x & =
s 4799 'i': 6 692 'i': s 30 x 9 = 6 2 x 400 =
ndEe BB 1, x 200 = 600 |5 90 x = 360
AWS

Copyright ©,00s AWS Publications Ltd



Wumbat Knowledas Worksheat 30

Name: Class:

Bké

Write in the missing numbers as you skip count backwards in 7's.

,,ql 1 1 1 q’l 1 1 707 1 1 1 LIQ' 1 1 1 1 7
E Skip counting in 7's, write the Write these
number that comes numbers in order 1372 557 1696 I3
<& before and after .. &> from largest to
amaliest 699, 31 129 790
! 35 2 8u ' N
s 52 Y 69 \ @ . XN
Add or subtract these numbers. g Multiplying by U's, I's, &'s or 9's.
Write the equations for Ql and Q2.  Example: 23 + 915 938 h@: &5 840 2 32 4o, uB. 56, 6. 72 80
2 515 + 487 = S& | 95 9,15 21 36,45, 54, 63, 72,01, 90
+ = u 786 a2 = LoGex2= |2 5 xa@ =l
[100's[10’s [ s | [100’s[10°’s [ s | [100’s[10’s [ 1’5 | 5'_ - ué = 771 5 x 3 = |L e xw =
l. -+ = "‘/5 + =088 ’ |
— 5 | x 2 = & 5 x | =
| &l €Ly 873 - uesd= p —
- | 5 653 ., S 6 x IO = e §x 7 =
[100’s[10°’s [ 1’s | [100’s[T0's ':sﬁ 100’s[10’s | 1’s | q'_ Y 73 =722 " o 4 =6 0.3 X__ = I5
2 - = C (2 =762 | O x =3 |2 x
o7 +udi+-90 = (0490 + 9 + 73 = ! ani;:efzﬁmg
70 + 85 + 6 = M6 + 59 + G0 =
5. 93 + 7 + @0 = le. 52 +090(+ 8 = P20 F = 208
7o+ s =152 | 56 4 60+ 4 = 152 363+ 7 = |+ &8 %
9. 62 + Y9 = 16l ¢, + 93+ & =16l |5 I8+ 9 = |e 2+
a 6 + L0 + 56 + 300+ 22 = T4+ 6 = s U2+
22 If you have 3u52 and Spend 388, S ' 9. 56 + & = 0. 27 +
how much money do'you have left? —
i Colour in'/, of
= this shape.

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

L 289 = 2 3621 = L7 x 500 = = |2 300 x & =
2 633 |v U6 | s uo x 9 = « 2 x 90 =

5 137 w»: 6 12 E’: 5 3 x 200 = e 6& oo x U = I
7.7qu¢7 > 'Nsw'i 4 x 5 :% &8 6 x =6?
AWS
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Motksheat 31

Name: Class:
Write in the missing numbers as you skip count in U's,
, 5 1 1 ,77 1 1 1 1 37’ 1 L(51 1 1 1 6,’ 657 _—
E Skip counting in uUs, write the Write these
number that comes numbers in order 173 1561 234 s
“m before and after .. =~ llest t
efore and after .. > from smallestfo | 849 1815 1657

I 32 68

59 97

2.

u,

largest.

Add or subtract these numbers.

UMuﬂplymgby3> Is, 65,75, 85&9s.

write the equations for Qland Q2. panpe: 21 g2 @ 5,16, 2u, 32, 0, U8, 56, 64, 72, 80
5 365 £°036 = s )16, 27,36, U5, 54, 63, 7, 81, 90
+ = € OO+ 49l = A2 = 2 Uy o
[100's]10°'s [ 1’s | [100°’s][10’s | 1’s | [100’s[10’s | 5] - + 354 =672 inG x | = o w7 =
= 6 U423 + =619
| ' 7 682 - udg > 6 X & sp e T x T =
. - /7 -
é:‘t 8 G586, - 05/0= 73 x(5 s 9 x U =
- q'oéq‘ ares) N w6 = 318 |9 (%, 8 =u2 |0 7 x =56
) Sadlil =175 | 8§ x =16 |2 «x
- | Write in the missing
Lo AWele0 =, L 10+ 3 4 — division facts
5270 + 95 + 6 w8 + 37 590 =
5 96 + 7 260 = 6 66 2000 & = L 27 + 3 = |2 32+ d =
17, 75 + Iy q — Ql.ll.l 18, 7 + B89 . 236 3. QL’ - 6 =— u. I'-’ - 7 :_
9. & clnt = 375 |» 9 + 92 391 5 + 8 =1 |6 + 9 =3
2 33 408 + 180 4000 326 = 2 What is '/ of 807
- | 8 If 369 is shared by 3 le,
2 If youhave 3359 ané are given 3275, \:;;« /; ho\:/rqnluch(:nineyy doZiope
how much money do you now have? — = each person get?
= =) - =

Round these numbers to the
nearest 10, Example: 2342 230, 178 180

Multiplying large numbers  rxample: 200 xu = 800 @

L3436 = 2 633 = L83 x 2 = 2 6l x 2 =
3 2 = v 2387 = s 7l x 3 = « Y3 x 3 =
5 235U = 6 858 = 5 42 x 5 = & 8 x 5 =
P 565 B8RS 5 k0 = 5 M ox 10 =
AWS
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<o llumber Knowledse Worksheat 32

B Name: Class:

Write in the missing numbers as you skip count in 7's,

77 4 4 4 35’ 4 4 4 637 4 77, 4 4 4 4 4 ,,q

B secomrarrsmene [ wreree g s ower s
before and affer .. fm’;f,r:ie; fo 1713 4 1259 664 1972

L U2 2 77 \ o

s 59 u u - 9 W
Add or subtract these numbers. 3 ,;Afply/hg by 35,45, 65 7;' §5& s,

Write the equations for Ql and Q2. pxample: 23+ 915,938 s | 85 8482 32,0, u8, 56, 64,72, 80
x;i =

9's: 9,13, 217 36, U5, 5u, 63, 72,¢1, 90

3 728 + (45 = R AP
+ = u 361 uhé = LoYSxe = (2 7 xmd sl
[100's[10’s [ 1s | [100’s[10°’s [ I's | [100’s[10’s [ 1§ | 5'_ _ 577 = 892 ;& x 5 = |4 10 x % =
l + = Y82 + = 948 ‘ |
5. = 6. =
| &l CL77 686 - auz= Px3 =g Wxl=
- | 5 639 » Swu S 6 x 0= s 6 xT7 =
o A .6 = . = . =
[100's[10’s [ 1’s | [100’s[f0's [ A's | "}100’s[10’s | 1’s | q_ _ 933 = 329 re’ & 72 |0 9 x =36
2 - = oles - = u87 |, Lx =3 |2
S _ 4 ) Write in the missing Xt
LT I = (REEO+ 38+ 5 W division facts
150+ 9 + d = w79 + 7 + 350 =
- L Y8 + 6 = 235+ 7 =
5.7 + 75 + {80 = . & +@260 + 98 = — —
vo35 4+ Mg 2323 |5 894l =g |P T E = eME G =
9§ + &5 = Mo + 87+ 6 =383 >3 =1 |6e__+d=3
260 + 0 4 312 4 290 4 by = 7 What is'/; of 63?
. If 380 is shared by U le,
2. If you have 3346 anc soend 3177, ’ hfo“:/ mﬁcshfr:in e yydo’ZiOpe
how much money do'you have left? each person get?

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

L8l o 2 3237 % L7 ox 2 0= 2 8 ox 2 =
5 U29 = u 362 = 3 52 x 3 = “w 9 x 3 = _
5 43 o 6. 7173 = 5 31 x 5 = 6 62 x 5 =
7. 5578 = 5 315 = 7 52 x lo = s 8 x 10 =

AWS Copyright ©,00s AWS Publications Ltd



@@@ Wuiber Knowkdze Workshest 33

Name: Class:
Write in the missing numbers as you skip count in 8's,
87 1 1 1 LIOI 1 1 6'-{! 2 80’ 1 1 1 1 ,207 2 1 ,L(L{
E Skip counting in 8's, write the Write these
number that comes numbers in order 613 lugé 748 176l
<@ before and after .. = from smallest to
< argest 327 1653 1990  u79
I 32 2 56
3 79 u 93 -
Add or subtract these numbers. —' j Mumplymgby 3S,M's, 65,75, 85&9s.
Write the equations for Ql and Q2.  Example: 23 + 415 = 938 @; 16, 24, 32 o, 4B, 56, 64, 72, 80
2 268 AW = e 710, 27, 36, U5, 54, 63, 781, 90
+ = u J7dn+ 563 = Y Y = |2 9 C
[100's]10°'s [ 1’s | [100°’s][10’s | 1’s | [100’s[10’s | 5] _ + dl = 693 ing x 7 = ey u =
= o 457 + E
| ) 7 764 . 5. 8 x 6 = A 6. 7 x 2 =
. - WY =
%*— 8 668 - l/a= 78 x(7 st |82 x 9 =
= _1'0,9‘_1‘ Eaealk 259= 318 |9, [ #%x,5 =12 |0 4 x =40
|°‘ 0o - =293 | 6 x =18 |2 «x
; | Write in the missing
8 +390+ 35 = L7 +290 + 54 ? 4 division facts
3 170 + 69 + 6 n 26 + 9 + 390 =
. 32 + 8 = 245+ 9 =
5. 59 + 9 380 = 6. 170 76 & = -
nogy + e 0g 2 223 | 7504 8 L 203 |7 R*F 3= wMFd =
9. 6 ST+ = 363 |» us + 8 323 |5~ 6 =10 |« +7 =9
2. 27 +M70 + 5 480 0057 = = What s /, of 1207
- 5. If 380 is shared by 5 le,
2.  If you have 3183 and are given 3298, ho\:/ mLchgnineyydogiope
how much money do you now have? each person get?

Round these numbers to the

nearest 1000. Eexample: 23u0 = 2000
L 2163 & 2 3172 =
2 56295 |« 738>
s 7 |6 996>
. 788U |s 2655

Multiplying large numbers  rxample: 200 xu = 800 @

93 x 2 = |2 &5 x 2 =
3 82 x 3 = |4 73 x 3 =
5 8 x &5 = |e¢ 9 x 5 =
795 x 1o = |& d7 x 10 =

AWS
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o |niber Knowledze

Wotshest 34

B Name: Class:
Write in the missing numbers as you skip count in 9s.
1 1 27’ _ L(51 1 1 1 1 qol 1 1 ,,77 _ ,351 _ 1 ,62
E Skip counting in 9's, write the Write these
number that comes numbers in order Suo 1534 209 1221
<Hg before and after .. &> from largest t
> o e 17834 457 1895 766
I 36 2, 63 o
s 78 L/. g5 \ @ A 4 A
Add or subtract these numbers. E Multiplying by 3's, 45, 6'5,75, 85 & 9's.
Write the equations for Ql and Q2.  Example: 23 + 915 938 o @,: &'s: 840,24, 32,40, U8, 56, 64, 72, 80
5 uD + 508 = 5o | 9's: 09,18, 21,36, 45, 54, 63, 72,61, 90
+ = u. 567 302 = L O X 3:_ .?.LI}"?"_
[100's[10’s [ 1s | [100’s[10°’s [ I's | [100’s[10’s [ 1§ | 5'_ _ 853 = 982 6 = |4& xer =
! + = 572 + = 715 |
—_ 5 4 x 8 = s 9@ x 6 =
| &l €Ly 875 - _Sle= p —
i | s g6dn Jquad |F 3 x F=le 7 xds
-z A 8 = . = . =
[100's[10’s [ 1’s | [100’s[f0's [ A's | "}100’s[10’s | 1’s | ? A & W 5 339 |7 o W é 2 |7 Xx__ 7
2 - = BN - = 633 |, Ox =80 |2 «x
- < ) Write in the missing
o8 + 990+220=_ 6 + 57 +390 = . division facts
o170 + 7 + 97 = Mog3 + 270+ G =
) L 21 + 3 = 2 6 + 3 =
5.9 + Ug + G50 = 6. 160 +07 (+ 84 = — -
v 35+ We 225l |6 8 g+l =oq |PPFE e T F T =
5 + 35 = 350400 +07 + 76 = 363 |° 7 § =8 |6 +9=2
, tis' ?
2.5 + 200+ U9 + €0+ UB3 = . Whatis /s of 607
5. If 3120 is shared by 6 people,
22 If you have 3560 ag« pendﬁ&!,w how much money does
how much money do'you have left: each person get?

Round these numbers to the
nearest 10, Example: 23> 2300

. 357 = 2. 5736 = L 62 X 2 = 2 71 x 2 =
3 2823 = ¢« I = s 43 x 3 = v 82 x 3 =
5 382 o 6 SU9 = 5. 22 x 5 = & 6l x 5 =
Puesss e S | w ok o = 5 65 x l0 =
AWS

Multiplying large numbers

Example: 200 x u = 800 @
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@@@ Wuiber Knowkdze Workshest 35

Name: Class:
Write in the missing numbers as you skip count backwards in 8's,
U, , , , 112, , , 88, , 12, , , , , 32, , , 8
B swconmsresmere [ ureree o us e e
= before andafter.. & f’°’",$2ﬁ?’ o 386 25 1639 788
I 17,4 2 R
3 37 u 95

Add or subtract these numbers.
Write the equations for Ql and Q2.

3
+ = o,
[loo's[10's [ 1's | [100's[10°s [1's | [100°s[10's [ # ]
L 7
TN
100 *1'1"‘.'—‘1‘.“ fose]|
W 3 __—— l’)‘
o7 +J80 + 86=_|.- 6 +
852 + 9 +29) = w170 +
5. 160 + Td 8 =« |6 &
7. G 4+ T 85= 244 B 9+
9. 68 Nt = 3372, |
2.7 + 313 + 170 + 3% .90 =

If you have 3375 ané are given 3267,
how much money do you now have?

UMutfplymgby3> Is, 65,75, 85&9s.

Example: 23 1\ = 933 CEL 8's: 516, 2u, 32,40, U8, 56, 64, 72, 80
537 405 = ‘sar | Fsi 916, 27, 36, 45, 54, 63, 70,81, 90
780+ 186 = . 48 = |2 7 C
- 44
_+°?56_65o.6x8=_ Sgwle =
231 + =002/
5. 3 x 3 = 6 4 x 6 =
690 - ui7 = — -
65 Vot 76 x(9 = |18 dx 7 =
W5 =270 |9, [ sx,8 =2u |0
%9 - =597 i3 x =18 |2
: Write in the missing
58 +260°5 & division facts
7 9 /b =
) . 36 ~+ 6 = 249 + 7 =
I 4 360 = B
 Off 235 32 8 ~ 8 = u, 8[.—'9:—
92 + & = 370 5._.—' 3 =10 6._+ Uy = 5
7. Whatis'/, of 66?
- 8. If 34O is shared by 7 people,
how much money does {
each person get?

Round these numbers to the

Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300
Lo SI3d = 2 262 = L83 o x 2 = 12 R x 2 =_
s 3679 |e2u29e |5 72 x 3 = |u 53 x 3 =
s u7ls |6 153 s 4l x 5 = 6 72 x 5 =
7 218 ‘:>7 8. -?6'-’55>7 7 82 x lo = |s 69 x o =
AWS
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< Number Knowledos Workshest 6]

B Name: Class:
Write in the missing numbers as you skip count in 6's,
67 1 1 1 307 1 1 1 5'-{, 1 1 1 1 8'-{7 _ 967 9 — 29 ,IL{
E Skip counting in 6's, write the Write these
number that comes numbers in order 377 1706 dad 1289
<& before and after .. &> from largest t
> o e Bl6 o 1638 1354 267
I u2 2 66 o
-1 u 99 S R W
Add or subfracf' these numbers, E Multiplying by 3's, 45, 6'5,75, 85 & 9's.
Write the equations for Ql and Q2.  Example: 23 + 915 938 o @,: &'s: 840,24, 32,40, U8, 56, 64, 72, 80
2 398 + B9 = & |95t 915 2136, U5, 54, 63, 72,1, 90
+ = Y. I5' :"-’:' A 5 A3 = 2y xm9 =
[100's[10’s [ 1s | [100’s[10°’s [ I's | [100’s[10’s [ 1§ | 5'_ _ 264 = 731 7 = |L o xw =
I + = 692 + = 226 |
5 2 x 8 = s 9 x & =
| &l €L~ 680 - 257= p —
) | 5 956 JBY S |7 3 x4 =& | x u =
-z A 1 = A = . =
[100's[10’s [ 1’s | [100’s[f0's [ A's | "}100’s[10’s | 1’s | ? A I8 u7g |« o W é 2 e 7 Xx__ 21
2 - = 66351 - =562, Oox = do |e X
- < ) Write in the missing
-85 + 7 0+250 = 68 +270+ 6 = . . division facts
190 + U + 7 = M5 4+ 79 + 350 =
‘ N L 24 + 8 = 2 9 + 9@ =
5.9 + 380 + @8 - le. 170 +09(+ 93 = -
n 86 + Mg =235 |5 u L8N+ =323 P 2T I E MR —
57 + 8 = 38 o0 + W7+ 6 =293|° F6 =2 | FT =
| 5
2 540 + + 10 + 392+ &6 = 7. Whatis '/, of 63:
- 5. If 36U is shared by 8 people,
22 If you have 3403 agc oend 3178, , how much money does
how much money do'you have left: each person get?
€] Round these numbers to the ultiplying large numbers  ex : 200 x = @
. nearest 1000, rxample: 5780 6000 Multplying larg Fromple: 200x10=800 >
L4yl = 2 9y = L6 x 2 = 2 23 x 2 =
3 4383 = 4 3327 = i 153 x 3 = “ 2 x 3 =
s 1779 = 6 U852 = s A5 x 5 = 6 3 x 5 =
. = : =
16886  |52650% |, a5 x o = s 19y x 10 =

AWS
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@é@ Wuiber Knonldes Vorkshest 37

Name: Class:
Write in the missing numbers as you skip count in 7's,
L__ ,_,28,_ , , ., ,63__, , 9, , ,
B3 - N rber hat comes numbers horder | 18701526 984 1917
@ before and after .. = from’ j;;gg?sf to 545 W9y 833 159
! uq 2 (N
3 67 u. 93

+

Add or subtract these numbers.
Write the equations for Ql and Q2.

[100's]10°'s [ 1’s | [100°’s][10’s | 1’s | [100’s[10’s | 5]

8§ +
38

b1 41

7 +Mo+ 73
87 + 5 + 360~
190 + 38
L a8 =

) + =

,%

m
10¢ |

.

3 + 39 + 280 +

If you have 3378 ai
how much money do you now have?

:‘I:
157

Example: 23 + 15 = 938 @ 5,16, 24, 32, 4O, U8, 56, 6, 72, 80
. 419 AN = o 9'.<- 316,27, 36, U5, 5u, 63, 7,81, 90
= u 68U+ /85 = L A0 = |2 T -
= g%
—+.?36 qua.bqu'_ '-I.LI,.9=_
o 675 + =0839
\ 7 685 - udg Sl x 3 = 6 U x 7 =
4 - Yo =
5 640 hIshe 76 x(8 w82 x 7 =
AL ‘ 329=638 |9, | sx,86 = 8 |0 9 x =27
o 756 - = 37 |3 x =2 |2 x4 =32
| Write in the missing
- 97 +360+ 78 L diision facts
W g + 59 1370 =
6 1606 550 9 = R
. 356 |15 G0 W s qup |* B F S |160F 6=
222 1% 3 +89=382|°__*8=81]__+9=7
" 7. What is /s of 6u?
+ U =
_ — 8. If 390 is shared by 9 people,
‘are given 3198, how much money does
each person get?

UMuﬂplymgby3> Is, 65,75, 85&9s.

L 7327 = 2 U9 = L7 x 2 = |2 84 ox 2 =
s 1529 |euE3e |3 52 x 3 = |u @ x 3 =
N T - 6 62 x 5 =
1265 BB e o s o8 x do =

AWS

Round these numbers to the
nearest 10, Example: 2358 2360

Multiplying large numbers  rxample: 200 xu = 800 @
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B Name:

<o lluiber Knowledse Worksheat  38)

Class:

Write in the missing numbers as you skip count in 8's,

8’ 14 14 14 L(ol 14 14 6'-{7 14 14 88’ 14 14 ,,QI 14 14 14 ,L(L{
E Skip counting in 8's, write the Write these
number that comes numbers in order 29 1750 278 6u3
<& before and after .. &> from largest 1
onaa > O ey 874 1235 géu 1372
I Jo 2, é6u ~
s d7 . 8l \ @ A 4 A
Add or subtract these numbers. E Multiplying by 3's, 45, 6'5,75, 85 & 9's.
Write the equations for Ql and Q2.  Example: 23 + 915 938 o @,: &'s: 840,24, 32,40, U8, 56, 64, 72, 80
2 098 + . 5o | 9's: 09,18, 21,36, 45, 54, 63, 72,61, 90
+ - u. 39’— LS ql = I, 7 A 8 :— 2. q }’ 6 3 y
[100's[10’s [ s | [100’s[10°’s [ s | [100’s[10’s [ 1’5 | 5'_ _ 829 = 963 x 4 = |4 IO x4 =
I + = M3 + = 077 ‘ |
5 3 x 6 = s 7 x 5 =
| &l €Ly 761 - 238 P —
i | s 6280 Spo’ |P Ex L=l s 2 x 9 =
-z A ? = A = . =
[100's[10’s [ 1’s | [100’s[f0's [ A's | "}100’s[10’s | 1’s | ? A 19 =255 o W 3 30 o d x__ 6
2 - = el que - =775 |, Ox =36 |2 x
= < ) Write in the missing
28 + 6/+290 = 9 + 54 +370 = division facts
oo + 83 + 7 = n 280+ 9 + S
) . 5y + 6 = 2422 + 7 =
5.7 + 360 + (79 = le. 6 +050 + 568 = — —
v 96+ Wb 2250 |5 86 L ensl =372 t6F 8= 0T =
n 8 + 66 =3 o + M5+ 9 zow|® T3 =9 e Fd =7
| 5
a4 + 6o + 57 + Sur + 50 = . What is /g of 90:
- 5. If 31O is shared by 7 people,
22 If you have 3470 agc oend 3197, " how much money does
how much money do'you have left: each person get?
€] Round these numbers to the Multiplying large numbers  rxample: 200 xu = @
. nearest 100, Example: 2340 = 2300 plying larg Fromple: 200x= 500 >
L] = 2 236l = 193 x 2 = 2 54 x 2 =
3 Y88 = v 39 = 3 182 x 3 = “ 713 x 3 =
5 326 = 6 1793 = 5 8512 x 5 = & 199 x 5 =
P MS2s (28055 |, g5 x s = s Ul x 10 =
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Rt Humbsr Knowledze Workshest  39)

Name: Class:
Write in the missing numbers as you skip count in 9's,
g ,27,__, ., 8L, N7, 126, ___, 153, 162
B - N e et comes numbers morder | 1919 952 697 1836
@ before and after .. fw from’ j;;gg?sf to 280 1462 1547 576
,. 54 B 8
3 29 u 93 .

Add or subtract these numbers.

UMutfplymgby3> Is, 65,75, 85&9s.

Write the equations for Ql and Q2.  Example: 23 + 415 = 938 0@ P 2, W0, 45, 56, 64 72, 80
5 U8 495 = - J, 16, 27, 36, US, 5u, 63, 70,81, 90
+ = u JE3n+ 755 = . = |2 dm C
[100's]10°'s [ 1’s | [100°’s][10’s | 1’s | [100’s[10’s | 5] _ + M = 893 in6 X 2 = Al | %7 =
= 6 382 + =557
| . 876 - 367 > 10 x 8 s Qe T x5 =
. = JOr =
é% 5 860 - 685 = 3 x(3 w8 6 x U =
- %".-‘1* e 337=3u8 |9, /x,6 =30 |0 7 x__=ug
= l’)' 87 - = I66 m 8 X—'—' 6'-{ /-?.—X
. | Write in the missing
"8 4O+ ST = NE 0+ T + 96 > division facts
5 59 + & + 3800 o 8 + 64 v 150 =
T Lo - 8 = 272+ 9 =
5. 180 + 3d 3= 6. 79 & 20+ € = -
7.3 + w89z 262 |5 7.0+ 38 - 235 | €6 T3 = |6+ U=
9. 8d + = 37h |® 9 + 45 = 34 5+ 6 =1 |6 +7 =3
2290 428 + 80 +ME M3l = . What is '/ of ug?
— 5. If 3160 is shared by § le,
22 If youhave $u8u and are given $198, 1731605 share: oy dons " &
how much money do you now have? each person get?

Round these numbers to the

Multiplying large numbers  rxample: 200 xu = 800 @

nearest 1000, rxample: 5610 = 6000
L 6139 = 2 925y = Lole2 x 2 9= 1227 x 2 =
s 387> e 2mM9s | s w3 x 3 = |« 82 x 3 =
sUMFeS e 62> 1 s o210 x 5 = e 62 x 5 =
P 7263 [85625° |, ux 0 = s 165 x lo =
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Wumbat Knowledas Worksheat a0

Name: Class:

Bké

Write in the missing numbers as you skip count backwards in 9's.

,537 4 4 4 ,,77 4 4 4 8” 4 637 4 4 4 4 ,8,

B socoomsnmmere B weree, w0 wo oo s
before and affer .. from lorgestio  loig, usy 1355 1928

N~ 2 99 N

s sy “ 85 — T
Add or subtract these numbers. 3 ,;,prly/hg by 35,45, 65 7;' 854 9s.

Write the equations for Ql and Q2. pxample: 23+ 915,938 s | 85 8482 32,0, u8, 56, 64,72, 80
»5& =

9's: 9,13, 217 36, U5, 5u, 63, 72,¢1, 90

3 2'-’7 + /~ l= | N 4 W
+ = v 571 SE7 = LoGex06 = |2 7 xelsl
[100's[10’s [ s | [100’s[10°’s [ s | [100’s[10’s [ 1’5 | 5'_ - g = 64 8 x 3 = | Xy =
! + = 597 + = 7"’7’ |
(ol 0 s - aege O 6K T2
- | s 7680 Uszw’ |7 6 x (=50 x T =
[100’s[10°’s [ 1’s | [100’s[T0's ':sﬁ 100’s[10’s | 1’s | q'_ Y 287 = uqgl " o & =ug |o 9 Xx__ = 63
2 - = 6785 - =292 |, Lx =6 |°
S _ 4 ) Write in the missing
9 +2/0+ 68 = [W7 +190 + 88 = division facts
U6 + 7 +380.= Mo 72 + 9 + 370 =
B L 15 + 3 = 2 40 + 4 =
5. 190 + 39 + (5, = 6. 280 +065( + 6 = — -
7. 6 + gc. = 2ud |18 U A 65 + 4 = 363 42+ 6 = |« 56 +~ 7 =
9. 75 + 6 = 36l 0 + 8 + 79 = 277 5 + 8 =9 & +9 =4
2 U0+ 109 4+ G 4+ @ W20= 7. What is'f; of 77?
- . If 3180 is shared b I
22 If you have 3550 and Spend 3189, ’ h’;‘:/i":ii ;roen ey):zlzg seop e
how much money do'you have left? each person get?

Round these numbers to the Multiplying large numbers  rxample: 200 xu = 800 @

nearest 100, Eexample: 2340 2300

L 289 = 2 7121 = L83 x 2 = (2192 x 2 =
2 9313 e W6 | s 72 x 3 = |4 53 x 3 =
s W7 s e RMS s oux 5 = e 72 x 5 =
PoMI2s 28BS | sax 0 = |5 619 x o =
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Worksheet | Worksheet 2 Worksheet 3 Worksheet U
2581141720 || | 61218203036 || | G2 e e
Al 23, 26,29 32 3538, || A| 42 48, 54,60, 66,72, || A 104 112 120.128. A —117 126, 135, 144,
411 ﬂ! ﬂ! &1 531 56 E! ﬂa 901 961 M’ M 136, 144 E _i
I 15 18 21 Il 24 30 36 I 8 16 24 I 18 27 36
B 2 49 52 55 B 2 60 66 72 B 2 32 40 48 B 2 45 54 63
3 66 69 72 3 9 15 21 3 51 59 67 3 60 69 78
« 78 81 84 4 43 49 55 v 73 81 89 v 72 81 90
C 209, 598, 882, 927, C 2095, 1533, 1314, 1078, C 207, 577, 859, 894, C 2113, 1904, 4739, 1647,
1075, 1253, 1444, 1860 906, 870, 651, 289 1125, 1281, 1563, 204 926, 765, 6B, 452
) 4 W . 3N
|
3 644 3 954 J_ ’i 3 851 3 835
U, 965 U, 596 U 787| (] J, 397
1oos[10s [1's | | 5 796 1oos[10s[1's | | 5 40 ,” hoos[10s [ 1's | | 5 f5; 088
| 462 +313=775| 6, 497 |, 145 + 602 = 747 | LT 7< I, 31 + 326 = 357 6, 228 |, 633 +243 =876 . 6. 13
7. 145 I R | | 7364 | (10| #532
8. 242 o | /54 . 210 8 110
g 412 :g . 332 > o | 9 155 -~ g 258
10. 307 - w 0. 146 FS - | 10.312 - 10. 280
[io0s]10's [ 1's | ogio I7e] [ias [0 [eds oS s |
2. 377 -262 =115 2. 073-512 =361 2/735-451=284 ~ | . 568 - 126 = 442
D L L |2
Il 415| 12, 326/ 13,4 7|| Il 315| 12. 547 13, 435| I 516 12, 436 %, 327/ Il 426 12. 318 13. 539
I, 241| 15, 463406, 355 I, 451 15, 504 l6. 243 W, 153 15, 254 T, 465 I, 332 15. 453 16, 164
17. 61 18 78|02 @ 17, 72| 18485 586 17. 95|15, 83| 19. 82 17 93|18 72 | 19. 84
20. 77 21431400 72 20491 (L 5. ‘.?.? 85 20. 91 | 21 305|22 81 20, 78 |2l 54722 87
23 152044 217 2ih266 24 ATT 23130 2u 267 23 157 24 267
25, 267 26, 187 25336 26, 235 | 96,9337 26, 365 25, 349 26. 39
27, 355 28 345 27, 158 28 447 | 027 258 28 148 27, 287 28 146
|
29, 509 29 507 || 29 706 29. 508
30. $546 + $1/2= 0718 30, $462 44347 95800 |30, $574 + $265 = $839 30. $483+$236 = $719
3. $40/ 08152 = 4285 31 €5844 - $473 = $371 3. $758- $287 = $471 3. $626-$194 = $432
8 2 16 148 2 32 I 16 2 40 I 56 2 80
3 24 32 | 5 64 3 56 0 72 3 48 U 64
E|5 40 6. 48 L7580 6. 8 Fl|5 8 6. 8 Fl|5 8 6. 32
7. 56 8 64 7 24 8 56 7. 64 8 48 7. 16 8 40
9 72 10. 80 9 72 10. 40 9 32 0. 24 9 24 0. 72
L1 2 10 2 2 9 2 2 6 1 2 7
Fl3 4 TR Fl3 3 U, 10 Fls3 s U3 Fl3 6 U3
5 5 6. 7 5 4 6. 8 5 5 6. 9 5 9 6. 4
815 820 . 513 510 614 610 I 138 140
2 746 750 2 247 250 2 382 380 2 481 480
G 3 651 650 G 3 231 230 G 3 441 440 G 3 783 780
U 464 460 4 174 170 4, 928 930 4 818 820
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Worksheet 5 Worksheet é Worksheet 7 Worksheet 8
102,96,90, 84,78 72| | 322N BEY | 7 44 91,28 35,22, || | 002132040
29, 33, 37, 41, 45, 49, 56, 64, 72, 80, 88, 96,
A| 66,60,54,48,42,36, || A| ' ' ee 69 73 || A | 4256, 63,70, 77,84, || A| T 0 00 o0 08
301 E! Ei 121 6 - _77_ - ﬂ! %1 wi 1121 m ﬁ, 144
I 12 18 24 | 28 32 36 I, 28 35 42 I 24 32 40
B 2 24 30 36 B 2 40 44 48 B 2 56 63 70 B 2 40 48 56
3 63 69 75 3 MM 75 19 3 41 48 55 3 1M 719 81
y 39 45 51 y 49 53 57 u 8 92 99 y 53 61 69
C 235, 317, 762, 846, C 1924, 1841, 1692, 1350, C 356, 364, 623, 747, C 1922, 1414, 1297, 1169,
1179, 1383, 1591, 1708 737,715, 503, 286 1238, 1380, 15421712 885, 758, 736, 174
|
-3 =
3 972 3 889 ‘ ] 3. 5941 s 3. 875
d, 759 d, 978 - U, 89 Y, 663
100s[10s [ 1's | | 5 798 poos[1os [ 1's | | g5 476 loos[1os [ 1's | | £ ‘q| 100s[10s [ 's [ 5 g45
l. 342 +526 =868 | 6, 983 l. 542 + 136 = 6784, U89 I, 242 + 526 = 768 ’ ¢.,.99%0 I, 416 + 562 = 9/8 ‘ 6,974
7. 162 I | | 7451 | |7, 431 ' 7. 413
8 570 . 726 | 8 411 10 | & 531
9. 656 | 9. 403 :‘“ - 9. 242 | 9. 227
10. 339 P 10. 256 ~ 10, 711 10. 621
[fo0's[10°s [ 's | fgsT1os 100 <[10's |1 [(io0s[10s T vs |
2. 756 - 134 = 622 y 684 - 263 = 421 2. 678 -162 =516 | 47| 2. 876 - 645 =231
b || 2l || D =
Il 325| 12, 537 Jamads I 537) 12, 428 30368 Il 446 12. 368,13 556 Il 455| 12, 548 13, 379
I, 322| 15, 234 I& 452 I, 284 15, 4 i, 4176 I, 477| 15 Cat]| 16 384 I, 485 15, 243 16, 293
17. 764 18, 67 15,576 17. 98 |, 0.7 95 17. 484118, 9519, 86 17. 95|18, 94|19, 76
204 | 21 508 22, 82 20, 74, 21 534/ 22. 84 200 96 ‘.7.. 648|22. 75 20. 93 2l 386 22. 92
23 1R 346 23 379 24 286 | |25 78 2u 288 23 278 24 489
25 379 26, 267 28, 258 26, 479 25 388 26. 189 25 358 26, 269
27, 419 28 ¢ 27, 189 28 3¢ H 27. 268 28 379 27. 197 28 369
29. 608 I 29. 709 29. 709 29 507
30, $562 + 4254 = $516 30, $6721+ $206,= (50 30, $583 + $245 = $828 30. $383 + $464 = $847
3 C50p. $184+ $383 51, $828-5275 = $553 3l $966 - $373 = $593 3l $668 - $394 = $274
I 40 2 32 \ 2. 18 I 27 2. 45 I 18 2 36
3 16 u, 64 A 4, 36 3 72 4 9 3 9 4, 72
F|5 80 6. 8 1o 45 6. 54 F|5 9 6. 63 F|5 45 6. 27
7. 48 8 56 7. 63 8 72 7. 18 8 81 79 8 54
9 72 0. 24 9. 81 10. 90 9. 54 0. 36 9. 81 0. 63
L7 2 2 lLo2 2 6 Lo 2 7 I 4 2 6
Fl3 10 U 8 Fl3 s U3 Fl3 a4 U 5 Fl3 2 U 6
5 5 6. 6 5 5 6. 10 5 9 6 3 5 9 6 1
326 330 I 691 690 I 884 880 L 115 120
2. 341 340 2. 993 990 2. 661 660 2 229 230
Gl s seo0 Gl 40 a G|y s ss0 Gy a1 0
4 114 110 4, 739 740 4 716 720 4, 492 490
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Worksheet 9 Worksheet 10 Worksheet Il Worksheet 12
9, 18, 27, 36, 45, 54, 119, 112, 105, 98, 91, 6, 12, 18, 24, 30, 36, 7,14, 21, 28, 35, 42,
63, 72, 81, 90, 99, 108, 49, 56, 63, 70, 77, 84,
A 117, 126, 135, 144 84,77,70,63, 56,49, || A | 42,48, 54, 60, 66,72, || A 91, 98, 105, 112, 119
@’ 162 Q! 3 12 2 1 7 E! ﬂ! 901 %1 Ma 108 _126_ -
Il 27 36 45 I 21 28 35 | 66 72 18 Il 49 56 63
B 2 54 63 712 2 42 49 56 B 2 42 48 54 B 2 70 77 84
3 13 22 31 3 74 81 88 3 45 51 57 3 22 29 36
4 79 88 97 4 50 57 64 4 89 95 101 4 85 92 99
C 374, 536, 885, 958, 1557, 1529, 1499, 1090, C 155, 219, 543, 828, C 1749, 1648, 4134, 1073,
1169, 1297, 1611, 1822 843, 772, 631, 296 1138, 1271, 1384, 153 715, 666, 517, 461
3. 485 3 796 3 3 858
U, 934 u, 878 u, J, 783
1oos[10s [ 1's | | 5 599 100s[10s[1's | | 5 a7 ” 5 599
|, 531+145=676 | 6, 995 |, 653 + 345 =998 | Am 98¢ |, 245 + 453 = 6984mb, B8 l, 451 +535=986 .6. /98
7. 147 I 6 I | 7116 | £1.>| “ 586
8 234 ‘ | 521 . 341 8 621
9. 531 :g 173 - | 9 334 | 9. 462
10. 331 2 w 0. 342 ': - | 10212 10. 481
foo'sT10's [ s | 00 16‘ s [ios[1e's [O0s[10s T s |
2. 598 - 345 = 253 2. /98 -236 =562 2/ 567 -253 =314 ~ | . 476 - 253 = 223
D L |2
I, 557| 12, 435 13, "a|| II. 388| 12. 559 13, 405| I, 327 12, 236 713, 425! I, 319 12, 226| 13. 448
I4, 197| 15, 36346, 262 I, 44515, 304 16, 271 Iu, 281 15, 490 6. 482 I, 37415, 293| 16, 135
17. 442| I8, B2 |4, S¥ 17, 357/ 18075 473 17 74 |18, 73 |19, 63 17 56| 18. 43|19 54
20. 93 21,444 00 86 20504 (@1 5. ‘.?.2 93 20. 56 | 21 $17|22. 54 20. 91 |2l 348 22. 85
23 178 w44, 359 2i0A078 24 259 23395 24 176 23 374 u 189
25 336 26, 187 25,359 26, 459 \." 285 26, 368 25, 166 26, 367
27 268 28 278! 27, 177 28 389 | 27, 196 28 254 27, 245 28 259
29 508 29, 609 || 29 709 29 507
30, $563 + $1db= 0749 30, $751+4176 5007 30, $129 + $66 = $195 30, $144 + $27 = $171
3l $87/ 8385 =492 31, 8775 - $493 = $282 3l $139-$82 =$57 3l $162-$35=$127
. 9 2. 81 118 2. 45 I 15 2. 42 I 24 2. 24
3 18 27 3 8 g, 90 3 21 g 16 3 70 U, 56
F |5 9 6. 72 5.9 6. 72 F|5 72 6. 12 EFl|5 9 6. 18
7. 45 8 63 7. 54 8 36 7. 60 8 63 7 12 8 49
9 36 10. 54 9 27 0. 63 9 24 0. 54 9 8 0. 45
7 2 4 .3 2.9 . 8 21 L1 2 3
Fl3 2 4 10 301 U 5 Fl3 3 4 10 Fl3 10 U2
5 6 6. 3 5 8 6. 4 5 7 6. 9 5 9 6. 7
I 994 990 . 321 320 . 573 570 . 891 890
2. 971 970 2. 336 340 2. 328 330 2. 157 160
G 3 749 750 3 663 660 G 3 437 440 G 3 919 920
U 417 420 d 912 910 U 682 680 U 774 770
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Worksheet I3 Worksheet I Worksheet 15 Worksheet 16
8, 16, 24, 32, 40, 48 9, 18, 27, 36, 45, 54 144, 136, 128, 12
) ) — — Y ) ) — Y ) — ) —)  —  — 1 1 2 2
4| 56647280, 88,96, || , (63,72,81,90,99,108,(| , | 112,104, 96, 85,80, | , O raealiug
104, 112, 120, 128, 117, 126, 135, 144, 72, 64, 56, 48, 40, 32, 873 78 83
136, 144 153, 162 24,16, 8 i
I 24 32 40 I 18 27 36 I 40 48 56 I 30 35 40
B 2 56 64 T2 B 2 45 54 63 B 2 72 80 88 B 2 55 60 65
3 1M 719 81 3 60 69 78 3 53 61 69 3 74 79 84
¢ 87 95 103 « 79 88 97 4 39 47 55 91 9% 101
C 159, 327, 613, 872, C 1548, 1379, 1227, 1090, C 121, 434, 683, 705, C 1688, 1584, 1256, 1018,
1295, 1564, 1743, 1981 913, 661, 553, 386 1109, 1357, 144001056 742, 539 225, 260
|
Lz <
3 797 3 769 ‘ ‘ 3. 699 . 3 768
d, 895 Y, 898 - U, 79 Y, 636
1oos[10s[1's | | 5 g7 hoos[10s [ 1's | | 5 478 [100°s[10’s | 1’s | a r,| [100’s[10s | 1’s 5 589
|, 243 +426 =669 | 6. 997 |, 634 + 263 = 897Zmb, 09 |, 414 + 564 = 978 ’ ©. 897 |, 535+ 243 =7/8 ‘ ©, 987
7. 536 I | | 7448 | | 7. 626 ' 7. 418
8. 561 . 234 | 8 713 | 8 231
g, 542 | g, 373 | ,L g, 251 R | g, 152
10, 438 ': E 10. 623 == 10. 415 10, 324
[100’s[10°s | T’s | [os]1os 100 s[10’s |1 [(io0s[10s T vs |
2. 767 - 353 =414 y 757 - 425 = 332 2. 568 - 426 = 142 | o412 755-324 =431
D I D | e D
Il 528| 12. 466| Jam318 I 318/ 12 417' 150536 Il 416 12, 48@NI3 427 Il 545 12. 364 13. 669
I, 256/ 15, 474 160 o4 I, 291 15, 1,1‘ .5 Iu, 451 15 086 6 164 I, 194 15, 490| 16, 294
17, 914l 18 87 19,9642 17, 51 | 6247 64 17, 38908 3419 82 17. 283/ 18, 97 | 19, 293
20,81 | 21 4% 22 64 20 81 21, w2622, 82 200 54 ‘.?.. 366|22. 63 20. 45 |2l 32522 89
23, 2424 566 23 277 24 379 | |25 1585 2u 277 23, 499 24 699
25, 466 26, 287 280 458 26, 489 25" 397 26 488 25, 157 26, 388
27 357 28 27, 588 28 4% H 27, 488 28 395 27, 596 28 479
29, 709 I 29 608 29, 906 29, 709
30, $243 + 029 $2/2 30. $2371 $59= $208 30. $215 + $48 = $263 30. $239 + $58 = $297
3. €18 9852052 S $172-858 = $114 3. $152-$38 = $114 3. $175-$78=$97
. 3 2 36 2 30 I 30 2 6 I 20 2 36
3 14 U, 40 [l 3083 U 72 3 28 U 32 3 21 U 16
Fl|5 27 6. 15 1S 90 6. 24 EF|5 81 6. 9 EFl5 72 6. 16
7. 54 8 42 7 36 8 56 7. 42 8 28 7. 60 8 63
9 82 0. 72 9 16 0. 9 9 56 10. 90 9 8 10. 54
3 210 I 10 2 2 L2 2 9 L9 2 7
Fl3 2 do9 Fls3 o U7 Fl3 7 U 4 Fl3 a4 U 6
5 2 6. 4 5 4 6. 5 5 5 6. 6 5 6 6. 8
. 563 560 I, 971 970 I 916 920 I 392 390
2 881 880 2 284 280 2 639 640 2 737 740
G 3 436 440 G 3 217 220 G 3 793 790 G 3 2713 270
4 118 120 4 348 350 4 461 460 4 629 630
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Worksheet 17 Worksheet I8 Worksheet 19 Worksheet 20
8, 16, 4 32, 40, 48, 9, 18, 27, 36, 45, 54 162, 153, 144, 135
12 1 24 L4 B L | ) ) — — ) et ) —— — b
Al 055 5050 60 75 56, 64,72, 80, 88,96, || | 63,72 81,90,99, 108, | | 126, 117 108, 99, 90,
78—’84 ’90—’96 ’10—2’ 1—0’8 104, 112, 120, 128, 117, 126, 135, 144, 81, 72, 63, 54, 45, 36,
- T 136, 144 153, 162 27, 18,9
42 48 54 I 64 72 80 l 54 63 72 I 81 90 99
B 2 24 30 36 2 40 48 56 B 2 36 45 54 B 2 54 63 12
3 63 69 75 3. 23 3 39 3. 10 19 28 3. 28 37 46
u, 45 51 57 u, 77 85 93 u, 78 87 96 u, 75 84 93
C 189, 254, 538, 606, 1884, 1733, 1445, 1059, C 287, 335, 650, 772, C 1852, 1597,1476, 1180,
1167, 1277, 1644, 1716 817, 770, 426, 394 1178, 1329, 1464, 194 819, 736, 447, 362
) . W .
== 7
() |
3. 649 3, 587 5 o 3 798 3 997
U, 867 d, 839 U, 887 | Y, 889
foos[10s[1's | | 5 7g7 [100s[10s [ 1's | | 5 ogf hoos[10s [ 1's | | 5 (69 | 997
|, 406 +372=778 | 6. 986 I, 270 + 724 = 994 | L H9¢ |, 284 + 710 = 994-mb, U025 |, 526 +272 =798 . 6. 579
7. 435 E 22 I | | 7823 | (1] 7 148
8 314 ‘ 12 . 667 < 8 313
9. 753 % . 731 - | 9 153 9. 237
[ [ ]
10. 248 Lo 0. 354 10. 532 | 10. 353
[l00s[10’s [ 1's | ‘_’s 10’s l_— ST Us | [
2. 697 -414 = 283 2. /96 -405 =391 2./539 - 135 =404 ~ ), 746 - 341 =405
D S .
I, 375| 12, 277] I3, '7|| I, 557| 12, 489 I3 ¢ ﬁ|| I, 43612, 525 "I, 559! I, 336| 12, 447 13, 459
4, 383| 15, 19246, 265 4, 145| 15, 303 l6. 270 1, 172 15, 270 46, 497 4, 292| 15, 482| 16, 593
17, 345 IS, 9Q2\ 7. 370 17. 172 18,471 19197 17. 392/ 18, 382| /9. 376 17 94 | 18, 87|19, 63
20. 72 21454700 62 20402 @L 2 ‘.?.? 93 20. 581| 21 207|122, 194 20. 74 | 21 789|122, 93
23 388 w44 577 JINA599 U 666 3619 24 595 23, 368 24 469
25, 596 26, 298 25,7 8579 26, 499 \.‘ /89 26, 285 25, 499 26, 358
27 269 28 4gs |l 27, 186 28 279 27, 497 28 367 27, 277 28 698
29, 809 29, 609 || 29, 708 29, 707
30, $246 + $30=.$085 30, $248 +:$38 = 128¢ | 30, $157 + $28 = $185 30, $368 + $39 = $407
3l $301 837 =%024 3, €3183-$5%=$126 3l $256 - $28 = $228 3l $178-$59 = $119
I 32 2 24 14 2. 42 12 2. 30 I 40 2. 48
3 70 u 72 1 U, 56 3 63 U, 48 3 49 u, 32
Fl5 9 6. 24 0. 27 6. 20 F |5 9 6. 32 E|5 18 6. 4
7 12 8 49 7. 54 8 28 7. 42 8 35 7. 24 8 42
9. 24 10. 45 9. 80 0. 72 9 16 0. 9 9 72 0. 27
7 2 4 . 4 2. 6 . 6 2 6 l 5 2 5
Fl3 8 U 5 3 5 U 8 Fl3 s TR Fl3 1 U3
5 8 6. 3 5 1 6. 1 5 3 6. 2 5 10 6. 10
183 180 I 454 450 . 353 350 L 127 130
2. 872 870 2. 225 230 2. 717 720 2. 264 260
G 3 838 840 3 645 650 G 3 835 840 G 3 572 570
U 327 330 4. 552 550 4 971 970 U 146 150
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Worksheet 21 Worksheet 22 Worksheet 23 Worksheet 2u
4,9, 14,19, 24, 29, 34, 7,14, 21, 28, 35, 42, 49, 8, 16, 24, 32, 40, 48, 56, 9, 18, 27, 36, 45, 54, 63,
A |39 44,49, 54,59 64, 69,|| A | 56, 63, 70,77, 84,91,98,|| A | 64,72, 80, 88,96 104, || A | 72, 81,90, 99, 108, 117,
74,79, 84, 89, 94 105, 112, 119 112, 120, 128, 136, 144 126, 135, 144, 153, 162
I 20 25 30 I 28 35 42 Il 48 56 64 Il 45 54 63
B 2 50 55 60 B 2 43 50 57 B 2 80 88 96 B 2 63 72 81
3. 73 78 83 3. 67 74 81 3 63 71 79 3 29 38 47
4 94 99 104 4 82 89 96 v 87 95 103 4 88 97 106
C 260, 427, 544, 653, C 1906, 1414, 1233, 1095, C 194, 459, 707, 977, C 2065, 1826, 1652, 1513,
1198, 1209, 1382, 1795 951, 789, 578, 170 1081, 1125, 1440, 1963 804, 647, 588, 339
| & | :
(& ]
|
3 391 3 684 ; - ' 3. 591 3 971
U, 828 U, 427 == | o947 U, 857
oos[10s [ 1's | | 5 206 roos[10s [1's | | 5 425 [1005040's [ 1's [ 5 534 100s[10s [ 1's 5. 808
I. 527 + 425 =952 6. 494 I. 261 + 365 = 626 6. 141 I. 523+ 257 =780 6. 98 . 3 + 246 = 628 6. 373
7. 603 7. 645 7. 424l 7. 615
8. 274 8.6 ™ 5. 662
9. 741 g /98 é' | “9.604 i%em
10. 676 10 591 &= 0 818 10. 373
D [M00's[10’s | 1’s | D 100°s]10’s | T's | D 100°s[105] 1 p D 100’ T' &,
2. 736 - 254 = 482 2. 384 58 =26 2 520-383 143‘ Z 493 247—246
I, 125 12, 127 I, 192 12, 144 Il 125 12, 161 I 158 12. 125
13, 131 Iy, 133 13/ 133 Iy, 144 2166 o136 (]l 95 125 I, 161
g 1 ls |
15, 124 16, 124 | |15 142 16,4429 | 15, 151 16. 125 15, 138 16. 143
17. 30 I8, 60 | 17. 70 18, 5 | 17. 70 18 60 17. 50 18. 70
19, 40 20.(90 19. 70 ¥ ) 19. 80 20: 30 19. 40 20. 70
2, 492 2, 318 2, 49 2 513
22. 5250+ $74 - $333 200, $443 - 516 = $367 207 $386 + $95 = $481 22. $265-$89 =$176
_ - I
L 15040 2 42 9 2. 30 | | L2 2 18 | 18 2 54
3 8 g 18 3016 U 36 | 2 32 U 72 3 64 4, 90
F 5 24 6. 24 5 30 6. 48 H 5 21 6. 60 E 5 15 6. 42
7 72 & 8 |47 24 8 5. L7 48 8 9 7 8 8 18
g 1 1PN 9 2 10, 9 4 0. 2 9 8 0. 4
I 10 7 I 7 ) N I 5 2. 3 I 9 2. 9
I 26 6 2 7 l 6 2 6 l 6 2 6
3 4 d 5 : B T 31 U 4 3 2 g, 10
5 4 6. 10 l 509 6. 8 5 5 6. 9 5 3 6. 5
79 8 7 r 7 4 8 9 7 4 8 3 71 8& 5
F 9 8 0. 6 9 7 0. 2 F 9 2 0. 7 F 9 6 0. 8
Il Il I, Il
I 1720 2. 430 I 500 2 7200 I 3860 2 670 I 200 2 300
3 940 4 3890 3 4300 4 300 3 130 4 1740 3 7200 4 5500
G 5 2520 6. 160 G 5 700 6. 8200 G 5 2950 6. 300 G 5 400 6 200
7. 270 8 1620 7. 5100 & 200 7. 580 8 2380 7. 3500 & 1300
500 2 120 700 2 320 I 360 2 800 210 2 800
3 560 U4 240 3 450 4 240 3 180 4 280 3 2000 4 240
H 5 270 6 180 H 5 600 6 360 H 5 1000 6 300 H 5 420 6. 400
7 100 8 4 7 3 & 6 7. 7 8 8 7 100 8 300
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Worksheet 25 Worksheet 26 Worksheet 27 Worksheet 28
108, 102, 96, 90, 84, 78, 2, 6, 10, _4 18, 22, 26, 6, 12, 18, 24, 30, 36, 42, 8, 16, 24, 32, 40, 48, 56,
A | 72,66, 60, 54, 48, 42, 36, || A | 30, 34, 38, 42, 46, 50, 54, || A | 48, 54, 60, 66, 72, 78,84, || A | 64, 72, 80, 88, 96, 104,
30, 24, 18, 12, 6 58, 62, 66, 70, 74 90, 96, 102, 108 112, 120, 128, 136, 144
I 36 42 48 I 36 40 44 I 30 36 42 I 56 64 72
B 2 60 66 72 B 2 24 28 32 B 2 66 72 178 B 2 24 32 40
3 713 79 85 3 13 77 # 3 47 53 59 3 75 83 9
¢« 91 97 103 « 85 89 93 ¢« 91 97 103 4 89 97 105
C 208, 379, 683, 891, C 1886, 1703, 1615, 1237, C 242, 412, 538, 780, C 2058, 1574, 1385, 1036,
1117, 1262, 1546, 2035 824, 792, 650, 541 1087, 1423, 1664, 1956 997, 822, 669, 211
3 966 3 641 - 951 - 3 792
U, 846 Y, 935 “s > U 931 ;) d, 933
[00sT10s T 1's | | 5, 449 [oos[10s [T's | | 5, 408 ﬂ—r 1175 505 b s[10s [i's | | 5 369
7. 757 7. 806 7. 539 7. 716
8. 454 8 &t 8. 081 | 174
9. 881 g s\” g9 tn2 g9 15
D 10. 361 s( p 19} 63 D 44
fios[10s ] s ] 100's10's T 1's | ro0alife | ﬂ
2. 546 - 264 = 282 2. 646 /85 =201 h- 256 —125
|
Il 133 12, 119 {124 12, 131 Y 123 12, 144 I 122 12, 171
13, 135 I, 136 ), 12 I, 122 13/ 138 I, 126 | 13,124 I, 150
15, 141 16. 167 15, 424 16. 138 15 161 16. 151 15. 126 16, 142
17 90 18,70 | 60 /8. 30 0| 17. 70 18, 90 17. 30 18, 80
19, 50 20. 8¢ | 19, 90 0 45 19. 60 200 g0 19. 70 20. 50
2. 715 2. 309 2. 617 2. 515
22, $075.49568 = 5644 22079234, 880 > $145 22, 48372 + $69 = $461 22, $472-$95 = $377
L3 2 36 I 2 35 ’ [ 18 2 5 I 20 2 25
3 80 U 63 R Y, 70 60 U 56 3 48 U 14
5 9 6. 304 5. 14 6. 10 l 5 2 6. 15 5. 10 6. 30
El7 8 36 L1y & 5 3 ||E 7. 30 8 28 E\7 2 8 63
9. 10 0. 5 9 2 00 9 9 3 10. 10 9 6 0. 8
T 12 6 T 2) ' I 6 2. 7 o7 12, 1
I 8 5 3 1 2 8 . 3 2 5 L 4 2 2
3 6 09 . R 4 10 3 8 d 8 3 5 U 4
5 8 6. 1 5, 6. 1 5. 10 6. 10 5 6 6. 7
7. 10 8 8 - 10 8 3 7 8 8 4 7 8 8 2
Flg 4 0. 1 e 0. 10 Flg 2 0. 5 Flg 3 0. 4
//I Il I Il I Il ————
I 8630 2. 460 I 300 2 7100 I 1830 2. 750 I 300 2 6400
3 470 U 3230 3 1500 4 300 3 750 4 4280 3 2200 4 500
G 5. 4870 6. 350 G 5 300 6 3500 G 5. 3590 6. 120 G 5 200 6 7200
7 720 & 2150 7 9100 & 300 7. 370 & 3640 7 3500 & 400
I 400 2 1200 I 280 2. 480 I, 810 2 160 I 270 2. 240
H 3 1400 4 480 H 3 630 4 1600 H 3 1500 4 2400 H 3 3000 4 1800
5. 540 6 1000 5. 1200 6 1400 5 350 6 420 5. 2100 6 3200
7 3 & 4 7 500 & 50 7 7 & 8 7 200 & 700
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Worksheet 29 Worksheet 30 Worksheet 31 Worksheet 32
% E}?gfeﬁgg—“’ g, 119, 112, 105, 98, 91, 84, 1,5,9,13,17, 21, 25, 29, 7,14, 21, 28, 35, 42, 49,
Al 108 117 126 135 144 || A | TL 7063 56,49, 42,35 || A | 33,37, 41, 45, 49, 53, 57,| A | 56, 63, 70,77, 84, 91, 98,
= 153162 28,21,14,7 61, 65, 69, 71 105, 112, 119
I 21 36 45 I, 28 35 42 | 28 32 36 I 35 42 49
B 2 54 63 172 B 2 71 8 9N B 2 64 68 T2 B 2 70 77 84
3 85 94 103 3. 45 52 59 3. 55 59 63 3. 52 59 66
4 69 78 87 i 62 69 76 ¢ 93 97 101 d 87 94 101
C 274, 636, 858, 985, C 1696, 1431, 1372, 1143, C 173, 234, 748, 849, C 1972, 1713, 1427, 1259,
1069, 1397, 1511, 2022 790, 699, 557, 129 1561, 1657, 1766, 1815 843, 664, 395, 281
I N |
3 791 3 802 - ' 3. 601 3 873
4, 726 4, 978 o || do949 y, 817
fo0s[10s[ I’s | | 5 713 1oos[10s [ 1's | | 5 425 [100%110's | 1’ 5, 318 0010 | 1's 5, 315
|, 635+ 237 =872 6. 94 |, 545 + 283 = 828 6. 693 I, 542.+ 138 = 680 6. 19@” |, 274 + 583 =857 6. 486
7. 757 7. 408 7. 24 I 7. 439
8 178 8.1 = 5. 95
9. 890 9 015 . | Q) 704 | 7962
10. 411 10145 cm 0,472 a0, 231
D [100°s[10’s | 1’s | D 100°s]10’s | T's | D 100°s[ 10 "I—1 > D/ poo 11071 1£=J
2. 428 -276 = 152 2. 462 - 257 =205 ’ 2 415-275-143 ‘ J 762 357 =405
I, 161 12. 136 I 7 12, 172 Il 252 12. 241 /I, 345 12, 256
13, 133 Iy, 147 13/ 161 4, 145 3371 w, 435 ({10 |95 233 Iy, 436
15, 171 16, 141 | |15 160 16.€450 | 15, 463 16, 394 ' 15, 262 16, 366
17. 30 18. 40 | 17. 70 | 17. 160 18 140 17. 280 18, 150
19. 90 20.480 19. 90 19, 280 20 290 19, 150 20. 290
2 516 2 41 2 64 2. 715
22 5280+ $oI= 8371 || A 9452 20, $359 + $275 = $634 22, $346 - $177 = $169
I 16 2. 20 : 18 L of S 20 —y 2 21
3 12 u, 21 318
5 g 6 a5 5 5 5 6 g 70 3 40 ¢ 90
20 o 10 48 63 27 4
El7 sa & [lF]7 e ] > X Fl> X
g 7 N 9 3 " 7. 15 8 36 7. 60 8 42
X ‘ U 9 7 0, 8 9 9 10, 4
I 1 2.4 I 5 I 5
‘ I 2 2. 8 no 1 2. 7
l 2.1 5 2 3
3 10 d 6 2 9 A . 9 2 8 . 8 2 5
5 1 6. 8 l ‘ 502 6. 6 3 4 g2 3 6 Y 6
79 8 7 - 7 4 8 6 F|5 8 6. 27 F|5 3 6. 12
F 9 5 0. 9 9 7 0. 3
7. 40 7. 21
11, H 11, I 8 $69+3=%23 8 $80+4=%20
| 3440 2 630 200 2 3200
l, 3840 2. 450 l, 300 2. 3600 3 740 u, 2390 3 2400 u, 400
Gl3 20 Y. 3550 G| 7 &% a s |G 5. 2350 6 860 G 5. 200 6 7200
5 4800 . 690 5, 100 6. 1300 7 570 8 8320 7 5600 & 300
. 450 2. 3000 . 3500 2 2400 H 3 213 u 129 H 3 156 u 273
H 3. 700 4 560 H 3. 30 d 180 5 210 6 405 5 155 6. 310
5, 270 6. 800 5, 600 6. 1600 7 370 8 140 7 520 8 860
7. 3 8 4 7. 1000 & 100
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Worksheet 33 Worksheet 3u Worksheet 35 Worksheet 36
8, 16, 24, 32, 40, 48, 56, 9, 18, 27, 36, 45, 54, 63, 144, 136, 128, 120, 112, O e 0. 66
A| 64,72 80, 88 96 104, || A| 72 81,90,99, 108, 117, || A | 104,96, 88,80, 72,64, || A 72_7’8 54_55()_556
112, 120, 128, 136, 1 126, 135, 144, 153, 162 56, 48, 40, 32, 24, 16, 8 _%(5’10’8_1%4 ’
I 24 32 40 I 27 36 45 40 48 56 I 36 42 48
B 2 48 56 64 B 2 56 63 72 B 2 64 72 80 B 2 60 66 72
3 171 79 87 3 69 78 87 3 29 37 45 3 75 81 87
85 93 101 4 86 95 104 J 87 95 103 4 93 99 105
C 327, 479, 613, 748, C 1895, 1783, 1534, 1221, C 356, 418, 681, 788, C 1706, 1638, 1354, 1289,
1486, 1653, 1761, 1990 766, 540, 457, 209 1360, 1425, 1639, 1842 816, 744, 377, 267
3 492 3 790 | \ 962 - & '3 961
y, 735 Y, 929 mm woo 939 J, 948
foos[10s s | | 5 279 foos[10s [ Ts | | 5 129 wos[1s] 1] | 5, 951 [Ws[10s[Vs | | 5 467
|, 516 + 259 = 775 6. 292 I, 371 + 458 = 829 6. 143 467 + 525 =992 6. 696 |, 485 + 504 = 847 6. 234
7. 225 7 7. 253, 7 423
8. 492 8 8. 072 | 472
g, 577 g g 15 ARy
10, 695 ‘ 10172 a5 95
D | fovs[ios] s | 100's[10’s [ 1's | D 1 s 1. ,1
2. 748 -294 = 454 2. 628 87 =241 '-2"427
Il 333 12, 351 ) 3 12, 324 I 342 12, 344
13, 245 I, 425 13/ 381 I, 252 13,271 I, 434
15, 448 16, 252 , 19) 242 le. 4624 || 45, 457 16, 272
17, 120 18. 140 | 7. 210 18. 1901 | 17. 150 18, 480 17, 140 18, 230
19. 260 20, 270 | 19. 260 0 478 | 19. 260 26 270 19. 290  20. 190
2L 712 2. 817 2. 616 2. 914
22, $160:45298 = $481 2275080 - 538 = $176 22./5375 + $267 = $642 22, $403 - $178 = $225
I 8 "o 27 10 2 32 ’ | 30 2 63 I 15 2 36
3 21 g 16 | |3 36 49 S5 e g 81 3 42 4 56
5, 48 6. 14 | 5, 32 6. 42 —['5 9 6. 24 5 16 6. 72
E\7 s s €8 ES7 o weolire” 8 28 E\; » 8 4
9 4 R ) g 2 0, | 9 3 0. 1 9 4 0. 3
I3 12,08 I .10 2, ¢ I 6 12, 2 I 5 12, 10
I 4 25 7 2 2 . 6 2 7 I 3 2 1
3 4 4 6 3 5 01 3 10 4 9 3 7 49
F|5 60 6. 63 )~| 54 6. 18 F|5 30 6. 20 Fl|5 12 6. 28
7. 30 712 711 79
8 $80+5=$16 8  $120+6=$20 8  $140 =7 =$20 8 $64+8=%8
I 2000 2 3000 I 360 2 5740 I 5100 2 300 7000 2 9000
Gl? 6000 d, 5000 G2 2820 u, 170 G2 400 4, 2400 Gl? 4000 u, 3000
5. 3000 6 9000 5. 380 6 5150 5. 2500 6 200 5. 2000 6 5000
7. 8000 & 3000 7. 4640 8 950 7 200 & 2600 7. 7000 & 3000
I, 186 2 108 L 124 2 142 I, 166 2 184 I 292 2 462
H 3 246 4 219 H 3 129 U 246 H 3 216 4 159 H 3 459 U 1236
5 255 6 455 5 110 6 305 5 205 6 360 5. 1075 6 715
7 950 & 470 7 340 & 650 7 820 & 690 7. 3450 & 1940
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Worksheet 37 Worksheet 38 Worksheet 39 Worksheet 4o
a2 8,16,24,32 40,48, 56, || | 9,18,27,36,45 54,63, || | 153,144, 135,126, 117,
Al 2 e o0 08 105 112 64, 72, 80, 88, 96, 104, || A | 72 81,90 99, 108, 117, || A| 108, 99, 90, 81, 72, 63
47,82, 91, 38, 10, 112, 112, 120, 128, 136, 144 126, 135, 144, 153, 162 54, 45, 36, 27, 18, 9
119, 126
I, 42 49 56 l 32 40 48 l 45 54 63 l 63 72 81
g|2 & 70 1 2 86 64 12 |12 72 81 %0 |52 90 9% 108
3. 60 67 74 3. 39 47 55 3 20 29 38 3. 45 54 63
4 8 93 100 « 73 81 89 4 84 93 102 y 76 85 94
C 159, 545, 833, 984, 1750, 1487, 1372, 1235, C 280, 576, 697, 952, C 1928, 1355, 1243, 1019,
1494, 1526, 1870, 1917 964, 643, 429, 278 1462, 1547, 1836, 1919 868, 632, 484, 371
| & | '
|
3 690 3 854 - "‘ 3 863 , L 3, 601
4, 869 y, 686 =% | v 918 = ﬁ Y 948
1oos[10s [ 1's | | 5 748 hoos[10s [ 1's | | 5 134 (1005 110s  1’s 7| 5 576 100s[10s | 1's | | 5 515
I, 246 + 437 = 683 6. 164 |, 284 + 563 = 847 6. 684 I, 364.+ 429 =793 6. 175 [ + 536 = 254 6. 62
7. 236 7. 526 7. 5001 7, 427
8, 464 8 (6o -4l | 5. 316
g 967 q 74 | @655 | s
0, 387 10173 = o583 = o, 497
D [00°s[10°s | 1’s | 100°s]10’s | ¥'s | D 100°s[ 105 1] D/ poo [0 157
2. 556 - 395 = 161 2. 693 245 =« ‘3‘ 2 645-276 372‘ J 6884 379 = 305
I 320 12, 464 L 205 12, 433 10335 12 463 I 347 12, 285
13, 452 Iy 438 130220 1y 338 s aar w222 (|10 [ 433w 451
15,205 16 2250 |1\ (16 446 16224 15 217 16,305 | {115 234 16 351
i7 250 18 190 o 7z 150 s ze ol (17 170 iz 190 17 140 18, 290
19. 180 204290 19. 260 . 2090 19. 280 (20 270 19. 280 20, 190
2l 518 2 818 a7 21 720
22, 9974 $198 = $576 925470 $197 = $273 20, $484 + $198 = $682 22, $550 - $189 = $361
| 60 . o 42 | 56 2 54 ||l <4 2 12 | 54 2 28
3 72 g 36 312 Y 40 512 g 7 3 24 g 9
L__ 5 3 6. 2 || 5 18 6. 35 H L_. 5 80 6. 45 L_. 5 18 6. 8
7. 48 14 7 32 LT 7 9 8 24 7 6 8 70
9 1 %\ 9 10 ) U 9 5 0. 7 9 6 0, 7
N 7 3 I 6 1209 I8 2.9 o2 2.5
L3 5 1 (9 2 6 I 5 2 8 I 5 2 10
3 5 ¢ 10 @ . W g 10 3 2 y 4 3 7 TA:
F|5 e 6 81 5,27 6. 28 F|s 6 6 21 Fl5 72 6. 36
7 8 710 7 8 71
8 $90+9=$10 8  $140+7=$20 8  $160+8=$20 8  $180+9=$20
. 7330 2 250 | 300 2 2400 | 6000 2 9000 | 300 2 7100
Gl3 150w a0 34200 w400 || |3 4000 w3000 || )5 9300 & 500
5. 1490 6. 320 5 300 6 1800 5. 5000 6 6000 5. 400 6 1300
7 270 8 2140 7 1500 8 800 7. 7000 & 6000 7 5500 & 800
| 146 2 168 | 386 2 1082 | 324 2 542 | 1626 o 384
pl3o1 o 2m 300546 w2139 || ls 1209 w2436 ||| 3 2163 W 1639
5 155 6 310 5. 2560 6 955 5 1105 6 3060 5 1205 6 3605
7 520 & 860 7 9150 & 4710 7 1340 8 1650 7 1820 & 6190
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